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BH 97 2.5 2.2 2.8 9.9 5.6 3.1 2.0 1.4 5 A 1000
OREEY

NE v 166 2.6 2.2 2.3 1.9 2.6 1.7 1.1 1.6 0 00 100.0

W 316 5.1 B 18.0 9.4 5.4 4.3 1.3 1.4 A 4 100.0

O 276 58 U2 B8 10.5 6.4 44 2.2 1.5 8 S 100.0

SO0K 01 oo 239 3.6 1.5 8.2 1.4 1.2 33 34 1.3 1.0 0 100.0
075720

N2 i 125 16.4 2.3 A8 1.3 9.1 3.0 0 1.5 0 b 100.0

B 152 1.3 2.3 3.3 8.7 53 33 2.0 1 2.0 0 1000

B 102 21 2%.5 12.2 16.3 5.1 6.1 0 1.0 0 0 100.0

B 5 18.3 .7 10.0 16.7 0 8.3 16.7 8.3 0 0 1000

B 56 8.8 52.5 1.9 34 1.7 0 0 0 0 1.7 100.0

UF 103 2.0 16.0 5.0 19.0 1.0 6.0 6.0 1.0 0 00 100.0

2 Y 5.0 3.0 6.0 6.0 0 0 2.0 0 0 0 100.0

BF 2 10.0 3.0 3.0 6.0 6.0 2.0 0 0 2.0 0 1000

B 2% A 10.0 0 8.0 2.0 4.0 2.0 0 2.0 0 100.0

B 1" 18.0 40.0 16.0 12.0 0 2.0 0 2.0 8.0 2.0 100.0
0520

PR 528 18.2 2.1 29 9.6 1.5 3.6 1.2 14 0 5 100.0

NS 408 3.0 3.1 1.9 10.7 35 3.9 3.2 1.6 N 201000

BLEN bl 3%.9 2.0 18.4 1.9 33 2.8 8 A 31 A 1000
033820

BS 28 15 2.2 19.0 17.0 1.6 30 35 1.6 8 8 5 1000

OFE 532 2.1 2.8 3.9 8.6 38 37 2.6 2.3 5 0 1000
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B 152 5.7 1.3 2.0 41 4.0 4.1 N 0 0 0 0 100.0

B, 104 3.0 14.0 2.0 13.0 1.0 2.0 1.0 0 0 0 0 100.0

BT 5 18.3 15.0 2.1 15.0 0 15.0 1.1 33 0 0 0 100.0
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O B8 i, 1M 5.2 8.1 12.1 5.9 4.9 1.5 0 0 0 1.2 2 100.0
082 £5(2) 0

00012 .o 97 KN 16.5 18.9 8.9 12.1 6.9 1.1 0 A 0 0 100.0

200043000, 37 %.4 8.0 19.5 8.0 5.2 5.3 1.9 A N A A 100.0

300044000, . 3 B3 21.6 19.6 9.3 2.8 4.0 1.5 1.8 2 0 0 100.0
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0520
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T 2 4 £5.1 21.0 0.2 2.8 17.6 2.2 4.0 5 2 0 2
SLEN ] 45,1 2.1 .8 2.0 2.1 20.2 31 1.4 A 2.9 1.1
033820
B F8 2p 63.4 3.6 34 2.2 18.7 2.5 39 9 5 2 2
OFE 53 a5 .2 0.6 3.9 15.6 17.3 2.6 2.0 2 2 2
SEOH O 20 83 5.8 %.5 835 .9 17.6 A 1.2 .6 0 0
024
00 v 173 5.7 a1 8.5 2.4 18.5 2.8 2.2 9 0 0 0
3 21 5.5 4.2 3B 0.5 2.9 14.5 2.1 1.8 A A 0
B 501 5.7 8.5 3.1 5.1 19.3 18.3 2.3 2.0 5 0 3
5 0 Lo 115 5.5 .9 0.9 2.1 10.3 19.3 44 2 1.1 .6 2
0522 0
DE OO v 675 5.2 4.2 34 8.3 0.4 19.8 2.6 1.0 2 2 2
BEUZ 04 o, 35 .2 4.6 5.3 2.5 14.3 15.5 2.2 2.1 N A A
05220
S o 502 9.2 6.9 3.0 2.0 16.4 18.4 21 .6 3 3 A
B 2 498 50.0 2.8 39 8.8 0.4 18.4 2.3 2.5 5 A 2
0 TIS% 25 0% 0
R 889 511 33 0.4 2.0 18.1 174 21 1.6 3 2 2
O B8 11 55.6 52.6 2.9 18.8 20.8 26.6 2 1.2 1.2 0 2
092 £5(2) 0
000 0% e 9 57.8 3.7 5.3 8.1 5.0 2.1 11 1.3 0 A 0
200043000, 37 5.7 3.9 39 19.9 19.1 2.8 33 5 A A A
30004000, kil 2.5 5.6 3.3 .1 16.5 14.0 2.6 30 N 2 0
000 018 oo 195 3.5 5.0 w1 %8.0 17.4 15.1 14 11 0 A .6
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My 2 13 7Y% ¥ By 7 uc

9 kg g g &g 5g kg Tq IKg 259 08K LHg  0Ng  15Kg oo

8 1000 1.4 W5 3.8 8.8 41 1.4 A A0 5 A A 2 5 1.0 100.0 1.6 74
167 44 4.8 3.6 1.0 45 21 A0 A0 .6 A0 A0 0 A0 001000 1 44

316 1.8 0.3 8.4 10.4 55 21 3 A0 1 A0 A 3 1.0 L7 100.0 176 7.8

m 1.2 839 34 10.2 42 1.2 A0 A0 5 A A0 4 A0 1000 .67 1.2

U0 9.0 0.1 0.3 6.3 46 0 A0 A 0 A0 A0 0 1 41000 1490

Ng 5 8.2 5.5 3.2 1.2 3 1.5 A0 0 .6 A0 3 0 9 31000 14 8.2
24 . 152 1 3%.0 U1 U0 12.1 20 A0 A0 0 A0 A0 0 A0 01000 218 1
U+ 104 12.0 18.0 2.0 3.0 6.0 1.0 1.0 0 20 1.0 0 0 A0 20 1000 L8 120
27 5 A0 16.7 60.0 3.3 15.0 5.0 A0 A0 0 A0 A0 0 A0 01000 232 A0
Ua 5 13.3 0.0 133 13.3 0 0 A0 0 0 A0 0 0 A0 001000 157 133
i 103 8.0 5.0 17.0 A0 11.0 0 A0 A0 0 A0 A0 20 A0 6.0 1000 145 80
24t 1 20 %.0 0 A0 0 0 A0 0 0 A0 0 0 A0 0 100.0 %20
&5 PA) 10.0 %0 8.0 40 40 0 A0 A0 0 A0 A0 0 A0 0 100.0 1.5 10,0
33 P 12.0 5.0 0.0 12.0 0 0 A0 0 0 A0 0 0 A0 0 100.0 1.2 120
2l I 8.0 40 12,0 40 A0 20 A0 20 0 A0 A0 0 8.0 0 100.0 .08 2.0
528 8.1 5.4 316 1.0 24 1.2 0 0 5 A0 2 4 1 1.4 100.0 1.2 81

i 5.3 w3 0.9 19.0 8.2 1.7 3 0 5 3 0 0 0 B 1000 200 53
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534 8.5 3.2 3.9 9.2 38 1.1 A0 0 1 A0 0 0 A 1.6 100.0 .64 8.5

0 45 658 3.9 5.3 33 28 A0 0 0 A0 .6 5 1.9 5 100.0 1.61 45

173 8.3 5.6 2.1 6.7 34 .6 A0 A 0 A0 0 0 | 001000 146 83

21 1.5 4.1 3.2 8.4 51 0 5 0 1.1 A0 A0 0 1 S 1000 167 1.5

501 1.9 2.5 3.5 8.1 5.2 1.8 A0 0 3 2 3 A 3 15 100.0 1.6 7.9

115 3.2 3%.6 346 15.5 43 29 A0 A0 9 A0 A0 0 1.1 41000 195 32

675 15 68 a7 8.8 5. 9 2 0 2 2 2 3 5 121000 161 15
35 10 %6 32 8.8 30 24 0 0 1.0 .0 0 0 5 A 1000 L6 1.0

5 13 62 86 9.4 31 1.1 2 0 N 2 0 A b L4000 165 13

1% [ A §.1 6.4 1.0 0 0 3 0 3 0 3 51000 1.6 14
B 89 19 Ry 33 9.0 49 1.4 A 0 A A A 2 5 L1000 16 79
0 E% .. il 21 A 2.0 1.0 38 1.2 0 0 9 0 0 0 2 0 100.0 16321

092 A5( 0

2000 /2 9 §9 B9 A9 51 1.0 0 0 2 0 0 0 0 A 01000 1% 8%
2000~3000, e % 12 4 5.8 9.5 54 1.0 3 0 0 3 A 3 A LT 1000 L6 12
3000~4000 k] 62 L5 U0 8.7 43 1.6 0 0 1.4 0 0 3 A b 1000 1.7 62
4000 014 1% 88 RS N2 9.0 6.1 23 0 0 0 0 0 0 1.3 J 00,0 L0 88
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03320
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HRUEOE.. 92 %0 88 24 5.6 48 1.4 45 0 34 0 g 0 0 8 0 2 .0
03%20

AL ... e a6 102 204 49 31 8 2.6 2 34 0 b 2 A 8 3 2 0

KR 88 208 18 07 6.2 32 1.3 51 .0 30 2 A 0 0 A 0 A 5

B3 06 86 10 280 57 34 1.1 38 A 26 A 5 A 2 5 A 2 A
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0 8.0 0 0 .0 0 0 .0 001000 .18
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137 14.8 29 1.7 .6 1.0 1.7 100.0 2.15
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10.0 1.9 2.6 0 0 0 1.5 .0 0 001000 1.9
1.1 16.8 2.9 35 0 41 8 0 0 01000 220
12.6 16.0 38 25 A 1.8 1.9 0 5 201000 202
9.3 2.0 46 45 1.8 21 31 8 0 01000 2.62
1.4 16.4 33 24 .6 21 1.6 100.0 209
11.6 18.5 41 2.6 0 1.9 21 100.0 2.3
1.3 14.3 44 24 A 1.6 1.5 100.0 2.2
11.6 19.9 21 2.6 A 2.5 20 100.0 LU
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1.6 16.1 44 9 0 35 23 100.0 2.02
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0CNE0
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Uf 85.4 10.5 3.6 0 0 A 1000 A8 8.4 28 5.6 33 24 0 0 A0 A
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20 2.2 6.2 1.6 0 0 01000 09 22 21 29 1.2 1.6 0 0 A0 0
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21 8.4 18 44 1.5 0 01000 2 84 5.0 26 2.6 29 5 0 0 0
501 8.1 6.2 6.7 1.2 5 201000 260 8.1 21 53 2.9 36 A 3 0 2
115 9.3 38 24 A 0 01000 A0 %3 22 A 2.9 1.2 0 0 A0 0
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(3820
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9 %.9 41 0 0 0 01000 0 %9 0 25 1.3 0 0 0 2 0
37 89.1 51 3.2 20 0 001000 A8 8.1 25 4.0 2.4 1.4 5 0 0 0
3000~4000. 3 83.3 11 1.0 1.3 A 31000 28 83 33 4.5 2.9 5.2 0 A A0 3
4000 014 19 83.3 6.6 9.5 0 1 001000 28 83 21 5.0 5.3 31 1 0 0 0
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07 83 8 1.0 3 14 1.8 0 A 0000 2.3
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e 27 32 1.3 0 0 1.3 0 0 0000 219
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13 798 AL
L)
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) 8.2 6.9 1.6 | 100.0 69 8.2 4.5 5.6
EEEN
N oo, 85.9 .6 9 A .6 5.3 1.1 .6 A 221000 8 89 6.5 3.0 1.8 29
N 85.8 26 0 .6 1 6.7 1.9 0 0 1.7 100.0 6 8.8 42 6.4 1.3 1.5
0. 85.8 26 0 8 2 1.4 1.3 0 5 1.5 100.0 69 8.8 38 6.8 .6 13
500014 ... 87.4 3 0 8 A 11 1.9 0 0 S 1000 60 814 42 5.1 A 1.3
0 HE 7120
HB o, 91.8 0 .6 39 1.5 0 6 1.2 100.0 A8 9.8 1.5 1.8 3 .1
S 68,7 .1 1 14.0 0 0 0 40 1000 1.5 687 12.0 18.0 1.3 0
0., 9.0 0 0 2.0 0 0 0 0 100.0 A0 %0 1.0 0 1.0 0
X 8.0 0 1.7 1.7 1.7 0 A0 01000 T80 8.3 5.0 0 17
& . 0.0 0 1.7 1.7 1.7 0 0 33 100.0 173 70,0 3.3 16.7 33 6.7
OB o, 19.0 0 20 1.0 20 1.0 A0 1.0 100.0 110 79.0 9.0 6.0 5.0 0
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BE 9.0 0 0 2.0 0 0 0 01000 A8 %0 2.0 0 0 0
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B 2.0 0 A0 2.0 0 0 A0 01000 N/ A 4.0 40 0 0
0SNED
204 89.3 5.3 1.6 2 100.0 60 8.3 3.0 2.6 1.2
N2y, 80.7 9.7 1.8 0 100.0 81 807 6.7 10.3 1.2
ZAEN ... %.1 20 0 0 100.0 A9 %1 24 N 8
0348640
Oz 78 .. 82.3 8.4 9 0 100.0 8 83 6.6 6.4
OHHE ... 81.1 6.5 1.8 2 100.0 60 87 38 5.5
GEOM . 8.7 6.4 2.0 0 100.0 NN 37 5.2
022
B ... §1.7 1 84y 2T 0 100.0 581 A 62
o, 8.4 A 53 0 100.0 oowe 50 3
B, 8.4 0 58 1 2 100.0 T%4 45 58
S ... 8.6 0 NI NI K 0 100.0 %86 31 8l
EEEN
IZ0lE...... %.2 (X I 100.0 %2 44 55
B2 (2 018 .1 190 100.0 B%1 45 60
02920
AL ... 84.3 8.2 1.6 0 100.0 T3 55 51
PSS 8.1 51 1.6 2 100.0 60 8.1 34 5.6
0 ST 29 020
B, 85.8 1.2 1.6 N 100.0 88 4.6 5.6 1.7
0 9. 89.6 4.6 1.8 0 100.0 5 896 3.0 6.2 1.2
092 AS(®) 0
w0, 02 0 0 Q28 39 0 0 20 1m0 A 00 19 52 1.0
2000~3000........ 85.3 2.8 R 9 .6 6.5 1.7 3 b 1.3 100.0 8.3 5.2 6.2 1.8
3000~4000........ 8.7 1.5 A 5 3 1.1 1.0 0 A 1.5 100.0 86T 47 5.6 2.2
42000 014 ... 86.8 1.0 0 0 3 8.4 1.3 0 0 2.2 1000 b 868 39 49 1
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OB ottt 1.0 0 01000 Al
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DR ERG
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L 0 0 01000 3
EL TN e, 0 0 01000 06
O=1 880
BEES ) 0 5 01000 38
O E oo 4 0 21000 2
Y N 1.8 0 01000 32
0152
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08220
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O IES |- A 1128 A 128
C
2U(0H)
o0 g

A o 1000 9.4 .6 100.0 .03 9.4 100.0 .01
OEEEE!

03 L 167 %.1 .9 100.0 .09 9.1 .9 .0 100.0 .02

O .o 316 9.7 .3 100.0 .01 9.7 .3 0 100.0 .00

BOCH oo 211 100.0 .0 100.0 .00 100.0 .0 .0 100.0 .00

50CH OI& oo 240 9.4 .6 100.0 .03 9.4 N ) 100.0 .01
0 A= 190

R 425 9.7 3 100.0 .02 9.7 .3 .0 100.0 .00

A 152 100.0 0 100.0 .00 100.0 0 0 100.0 .00

B 104 99.0 0 100.0 .05 9.0 .0 .0 100.0 .02

B 56 9.0 .0 100.0 .25 9.0 5.0 0 100.0 .05

B 57 100.0 .0 100.0 .00 100.0 .0 .0 100.0 .00

T 103 100.0 .0 100.0 .00 100.0 0 0 100.0 .00

B 42 100.0 0 100.0 .00 100.0 .0 .0 100.0 .00

@$ ................................... 25 100.0 0 100.0 .00 100.0 0 0 100.0 .00

T 25 100.0 0 100.0 .00 100.0 .0 .0 100.0 .00

e 1 9%.0 0 100.0 .20 9.0 2.0 0 100.0 .06
EEER()

A A 528 99.8 .2 100.0 .01 99.8 . .0 100.0 .00

P e R 41 9.1 .9 100.0 .05 9.1 1 .3 100.0 .01
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OMF E oo 534 99.5 5 100.0 .02 9.5 .2 .2 100.0 .01

G OA O .., 220 100.0 0 100.0 .00 100.0 0 100.0 .00
0 54

2G 018 e 173 9.0 01000 100 9.0 .0 .0 1000 .02
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ESEEN(]
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0 B 1 99.8 .2 100.0 .01 99.8 100.0 .00
0 92 AS(2) 0

2000 0ISH . 97 9.4 .6 100.0 .08 9.4 .6 .0 100.0 .02

200043000, ..ot 367 9.5 .5 100.0 .03 9.5 .3 .3 100.0 .01

3000~4000. . ..o 3 9.4 .6 100.0 .03 99.4 .5 N 100.0 .01

4000 01& oo 195 100.0 0 100.0 .00 100.0 0 0 100.0 .00
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e 2 13 798 A 2k
gt kg X%g g 5g Mg 05g 15K AV
i 1000 9.6 4.3 1.5 8 A A A A 100.0 A5 R4 45
04320
N& .o, 167 %.0 28 .6 A0 0 .6 0 001000 A0 %0 2.3 .6 0
L[5 [ 316 8.4 39 9 1.0 2 3 A 001000 A3 90 5.3 0 A
0. m 91.0 51 21 1.1 3 3 A0 01000 8910 4.2 A 0
5004014 ...... %0 9.9 49 2.3 9 0 A 0 B 1000 AT 909 53 0 0
07F 720
I 5 9%.8 24 1.5 .6 0 0 3 301000 08 %5 1.8 .6 0 3
2 15 %.3 33 N 1 0 0 0 001000 0 %3 33 1 0 0
U 104 9.0 1.0 5.0 1.0 0 0 0 001000 A %30 3.0 2.0 0 0
T 5 80.0 33 1.7 6.7 1.7 6.7 0 001000 1.2 80.0 1.7 1.7 0 0
UE .o 5 %.0 5.0 0 0 0 0 0 001000 05 %0 5.0 0 0 0
OB o 103 %.0 20 0 0 0 0 0 001000 02 %0 2.0 0 0 0
g I 52.0 1.0 2.0 A0 0 0 0 001000 S0 50 3.0 0 0 0
@-Xr ............ PA) 9.0 0 40 A0 20 0 0 001000 A8 90 6.0 0 A0 0
B 51000 0 0 A0 0 0 0 001000 000 100.0 0 0 0 0
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0F1800
o= 78 ... U6 92.8 49 1.5 8 0 0 0 001000 A0 23 5.4 5
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BEONG.. 2 9.7 5.2 21 .6 A 0 A0 001000 A3 9T 40 1.2
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B 173 9.6 29 3.0 5 0 0 0 001000 A0 %36 4.6 0 0
£ 21 92.0 6.0 1.5 .6 0 0 0 001000 A R0 48 9 0
@ 501 2.5 4.4 1.0 1.0 3 .6 3 001000 6 23 51 1.3 3
504 ... 115 2.3 28 1.8 1.1 0 8 0 1.1 100.0 A 23 9 30 0
08820
1Eldt....... 675 2.0 41 1.5 1.1 2 3 0 201000 5920 4.6
B2 HEON. 0 8.7 34 1.6 3 0 .6 A 001000 A3 93 43
03920
2o A0 ... 502 9.5 4.8 1.6 1.0 3 .6 3 001000 A8 913 5.4 1.1
3422 49 9.6 38 1.5 .6 0 .2 0 301000 AL 936 3.6 1.2
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2 889 9.6 4.2 1.5 8 2 A A A 1000 A5 05 45 1.2
0 29... 1 2.4 47 21 8 0 0 0 001000 A4 43 1.2
0 92 AS(E 0
200012 ...... 9 9.8 21 21 1.0 0 0 0 001000 09 98 2.8 2 0 0
2000-3000........ 37 %.1 4.2 N 0 0 0 0 001000 06 %1 34 5 .6 0
3000~4000........... 3 9.5 4.2 1.0 1.6 A 3 A 001000 AR5 45 1.5 0 0
000 014 ... 19 8.9 51 3.8 1.1 5 14 0 01000 A 8.2 1.3 24 0 1
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(H 41-20) LEEOIE 3~4

I 13 79% ) Y e
gt kg %q Xg Ig g 8g 1Kg 0.8 a1 2 33 £ 53

i 1000 5.9 1.1 16.8 5.6 8 1.1 A 8 A 100.0 8 5.9 13.8 14.8 45 8.2 5
04320

W& .o, 167 5.3 19.5 21 1.2 0 .6 0 .6 001000 NI K] 15.6 10.9 34 13.1 3

L[5 [ 316 5.2 18.2 17.0 6.8 N 1.3 0 3 A 100.0 8 52 12.6 15.6 3.6 10.0 .6

o m 51.3 18.3 15.2 6.7 0 1.1 A 1.1 01000 R T 14.8 14.4 11 51 A

S0 004 ... 10 59.9 15.2 14.3 51 2.6 1.3 0 1.2 001000 8 599 13.0 16.8 33 6.0 5
07F 720

L T i 55,2 19.7 2.2 21 1.5 0 0 0 31000 T %2 15.2 13.3 1.8 12.4 3

= 192 53 121 2.0 19.3 N A0 0 0 001000 117 53 14.0 %8.0 10.0 L1 0

U2, 104 61.0 1.0 19.0 11.0 0 40 1.0 3.0 001000 1.3 6.0 13.0 5.0 8.0 1.0 2.0

X 56 ki %.7 13.3 6.7 1.7 1.7 0 8.3 001000 L2 3T 18.3 18.3 10.0 16.7 1.7

UE ..o 51 .7 8.3 1.7 33 0 0 0 0 001000 A2 06T 33 10.0 1.1 8.3 0

UF v, 103 8.0 12.0 20 0 0 A0 0 0 001000 16 8.0 12,0 2.0 0 0 0

I @ 14.0 8.0 20 0 0 0 0 0 001000 8 140 2.0 1.0 120 4.0 0

@-xr ........... Ji 5.0 18.0 4.0 2.0 0 20 0 0 001000 8 540 8.0 2.0 6.0 8.0 2.0

B P 2.0 2.0 6.0 0 0 0 0 0 001000 A 9.0 4.0 4.0 0 0 0

o 1 9.0 10.0 0 0 0 A0 0 0 001000 A0 9.0 4.0 2.0 20 0 0
0 CHE (

2CA . 528 61.2 18.2 17.5 17 1.2 0 0 0 201000 63 6.2 14.5 1.1 1.5 10.0 2

%29, i 8.6 18.3 16.6 1.3 5 26 3 1.9 001000 120 486 141 20.0 8.5 6.6 N

EACN ... 1 T6.1 10.0 12.3 8 0 8 0 0 001000 A TR 5.6 11.0 28 33 8
0F1800

05 78 ... U6 b1.6 18.1 11.0 11 8 A 0 A 001000 T3 616 12,0 13.6 48 51 A

OHE ... 534 5.6 18.0 18.5 5.0 5 1.1 2 1.3 201000 %5 56 14.8 15.1 43 9.2 N

GEONG.. 51.2 16.6 19.1 4.8 1.8 5 0 0 001000 9 512 13.4 15.2 45 8.5 0
0152 (

B0 113 5.0 19.7 19.2 41 N 1.1 0 5 001000 8 540 13.4 1.1 45 9.8 0

B 21 55.6 18.0 19.4 4.6 0 1.0 0 14 01000 A0 56 14.3 15.0 51 9.2 2

[ 501 59.0 18.0 14.3 5.6 14 1.1 0 A 31000 18 5.0 13.6 13.6 39 13 N

204 115 5.4 13.3 19.3 8.8 0 1.6 9 1.7 01000 110 54 14.2 15.0 5.8 11 8
08820

1E 0t ...... 675 59.5 18.0 13.5 6.2 1.1 1.1 0 1 001000 80 595 13.5 15.4 49 4.9 .

B2 HENN. 51.6 17.3 5.6 4.3 A 1.2 3 9 A 100.0 9 516 14.4 13.4 3.6 15.0 Y
03920

AL ... 502 5.4 19.6 15.4 1.0 1 1.5 2 1.0 31000 B 54 14.5 16.3 55 19 Y

§AZ2 ... 19 59.4 15.9 18.2 4.2 1.0 8 0 .6 001000 T8 594 13.1 13.2 34 8.4 8
05122020

BS 889 55,1 18.5 1.1 6.2 9 1.0 A 9 A 100.0 A0 5 14.8 14.8 45 8.1 5

0 2g.. 1l 4 11.5 14.4 9 0 1.8 0 0 001000 SNd 59 14.8 39 39 0
0 92 AS(E 0

20000 ... 9 4 10.2 13.0 34 0 20 0 0 001000 SN 41 13.0 1.3 13 1.1

2000~3000......... 37 60.5 18.2 15.7 39 A 5 0 8 001000 4605 13.4 13.4 49 6.5 N

3000~4000......... M 81 2.2 17.9 8.5 1.7 1.0 0 .6 A 1000 .00 487 16.2 16.5 5.0 10.9 1

000014 ... 19 51.3 14.6 18.6 4.9 N 20 5 14 001000 %8 53 14.9 15.1 43 1.2 5
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(H 41-20) LEEOIE 3~4
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A8 b 0 8 5 0 100.0 1.00
SF 0 L 0 9 0 9 2 100.0 1.14
03320
DEOGE e 5 3 2 2 0 100.0 .90
R HE O o, 0 0 8 1.0 .0 100.0 1.30
0220
S AL 0 0 3 9 0 100.0 1.08
Y PR 6 5 5 .0 .0 100.0 .99
0 st 2% 62 0
R A 3 A 5 0 100.0 1.08
O B 0 0 .0 .0 .0 100.0 .63
o2t AS(2) 0
2000 018 oo 1.0 0 0 0 2 100.0 .18
200073000 ... 3 4 4 ] 0 100.0 91
3000~4000. . ..., A 3 8 .6 0 100.0 1.28
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(H 41-21) LEEDIE 5~62

X 13 9% A 562k 79 Hg
AV XKg g Ug 5g 8g kg I%g 2%  0%g 1.5 AV 2

8 1000 14.2 W1 3.5 13.2 26 26 A 9 A A .6 A 100.0 L1142 19.9 0.1
REEN)

W& i, 167 14.9 Hhe B 9.3 26 23 0 1.2 0 0 8 001000 164 149 2.1 2.0

K[V P 316 16.0 8.0 0.5 14.8 1.9 31 0 3 0 0 1.4 001000 164 16.0 0.2 4

O m 12.6 %0 3.3 14.3 20 1.9 A 9 2 A 0 001000 171126 16.1 R4

5008 014 ... A0 13.3 W3 0.7 12.5 42 32 0 1.3 0 0 A0 S 1000 179 133 19.8 8.8
03 1% 0

H2 o, 5 6.4 B8 4.9 8.5 3.0 9 0 0 0 0 1.2 301000 .64 6.4 15.5 21.6

L 152 6.7 0.3 U1 U1 1 4.0 0 0 0 0 A0 001000 1.8 67 2.0 W7

B2 104 12.0 3.0 3.0 3.0 6.0 4.0 1.0 30 0 1.0 0 001000 263 120 5.0 2.0

BF 5 2.0 .7 %.1 10.0 1.7 1.7 0 8.3 0 0 A0 001000 25 0.0 B3 8.3

U8 51 6.0 5.0 16.7 33 0 0 0 0 0 0 0 001000 8 60 13.3 5.7

UF e 103 %8.0 8.0 5.0 12.0 30 4.0 0 0 0 0 A0 001000 146 20 1.0 5.0

S Y 12.0 8.0 20 0 0 0 0 0 0 0 0 001000 900120 0.0 52.0

@5 ............... P 2.0 2.0 6.0 40 6.0 6.0 0 20 2.0 0 A0 001000 1.8 30 2.0 16.0

BF s P 0.0 18.0 2.0 0 0 0 0 0 0 0 0 001000 1.2 4.0 1.0 0.0

Ao I 3.0 8.0 2.0 0 6.0 2.0 0 20 0 0 40 001000 .08 3.0 16.0 2.0
0CNE0

203 528 10.6 %7 3.8 9.2 30 1.5 0 0 0 0 1.0 201000 1.60 10,6 1.1 2.1

g 2% i 15.7 3.9 3.9 0.1 20 41 3 1.9 0 3 A0 001000 1.9 157 8.0 2.5

ZACN ] 3.0 5.8 2.5 1.6 35 28 0 1.2 8 0 1 01000 1.3 %0 8.4 2.8
0Z1800

O F8 . b 13.6 8.5 2.0 15.5 23 L1 0 5 0 A 5 001000 1.6 136 2.6 8.8

OHE ... 534 15.9 0.9 39 13.3 21 32 2 1.4 A 0 3 201000 178159 19.7 34

GE DA ... 0 11.0 %.7 3.6 10.4 29 1.2 0 0 0 0 1.3 001000 1.5 110 18.6 8.5
020

W00t 1K 15.7 4.9 0.1 9.6 A0 31 0 5 0 0 0 001000 1.5 157 U3 2%6.4

{1 IR Al 12.8 0.8 0.9 10.6 1.0 22 0 1.4 0 0 1.2 001000 173 128 .1 5.1

L R 501 14.5 50 0.5 13.4 40 22 0 .6 0 Y .6 01000 168 145 18.2 3.5

50N 115 13.5 2.0 %.3 2.3 35 41 9 1.3 A 0 0 1.1 100.0 21 135 18.6 0.5
08320

JEa . 675 14.5 Bl 2.8 13.2 29 31 0 8 A 2 2 201000 L7 145 19.8 0.2

HEUEO4 ... kK] 13.1 3.9 K 13.2 20 1.8 3 9 0 0 1.3 001000 L 137 0.2 8.1
03820

280 . 502 143 B9 0.3 147 1.8 28 Y 9 A 2 9 001000 173 143 19.6 3.3

HEZ2 49 14.2 %2 3.6 1.7 35 25 0 8 0 0 3 31000 .69 14.2 0.2 2.8
05k 22 020

BS 889 14.6 8.6 0.9 13.9 28 25 A 8 A A 5 A 100.0 14.6 19.9 0.5

0 B9 . il 11.5 8.0 3.2 1.4 14 34 0 9 0 0 1.2 01000 11.5 0.5 5.2
0824450

200008 ......... 9 19.6 3.6 21.6 12.6 A0 0 0 2 0 0 1.3 001000 19.6 2.6 2.0

2000-3000........... 37 13.8 Hhe 3.6 12.2 24 29 0 5 0 3 5 001000 13.8 2.4 2.5

3000~4000............. ¢l 13.3 w7 3.5 13.3 28 24 0 1.3 0 0 8 001000 13.3 0.1 .1

000014 ... 19 14.0 0.4 2.9 15.2 41 39 5 1.0 3 0 A0 01000 14.0 14.1 KIN
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(H 41-21) LEEDIE 5~62
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5 014 e 0 0 0 0 100.0 25
DEEEN

DEOG oo 2 0 0 0 100.0 .18

HE2UB 0N oo, 4 4 Y 3 100.0 .36
0 3YE 0

S UL e 3 3 0 0 100.0 .23

HYZ2 3 0 3 2 100.0 25
0 NSk 28 U2 0

B 3 i N N 100.0 .25

0 B9 o, 0 0 0 0 100.0 12
0 %2250 0

2000 0I8F ..o, 0 0 0 01000 10

200053000, . 0 0 0 2 100.0 K

30005000, .. 8 0 4 01000 .36

4000 014 oo, 0 7 0 0 100.0 .33
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CH 42-1) £t 15 72N 2

=

Mol 4 2t

3HE-5H SHE-I0 10800 20830
TR 1000 2.4 49.0 4.6 .
EE
D2 167 3.3 49.1 41.6 0
K] PR 316 1.5 52.2 46.1 2
0, 21 2.1 4.7 53.2 .0
5000 OI& o 240 3.2 49.5 4.1 2
SR
HE 425 3 36.7 63.0 0
PP 152 2.0 40.7 51.3 .0
B 104 4.0 4.0 51.0 0
B 56 3.3 38.3 5.3 0
TR 57 8.3 13.3 18.3 0
[ 103 4.0 81.0 9.0 .0
B 1Y) 0 90.0 10.0 0
B e % 0 M0 620 40
BT 25 14.0 12.0 14.0 .0
oy Al 10.0 12.0 18.0 .0
cAE 0
SR 528 1.0 52.5 0
NS &% an 34 51.0 45.6 .0
EAEN 61 1.5 3.4 1.6
) 86 0
HE 8 246 31 62.1 34.8 0
OHFE Lo, 534 2.3 40.6 5.9 2
GEOMO . 220 1.6 54.5 43.8 0
54
200 . 173 3.0 5.3 3.7 0
e 211 3.2 48.5 481 2
< P 501 2.1 46.6 51.1 N
SO 115 1.1 53.5 45.4 .0
524 ()
DEOGE oo, 675 2.8 5.2 43.9 N
B UHE 0N .o, 325 1.5 40.1 58.3 .2
EN0
SO UL 502 2.5 54.8 42.5 2
YRR 498 2.3 43.0 5.7 0
TEH 29 0% 0
B 889 2.3 46.6 511 N
O 28 m 3.4 68.0 28.6 0
&3t AS(2) O
2000 D10 .o 97 9.2 63.3 21.5 .0
2000~3000. ... ev 367 3.2 5.6 31.2 0
3000~4000.... .. K 9 4.3 54.8 0
4000 014 oo 195 N 30.0 69.4 5

A

100.0

100.0
100.0
100.0
100.0

100.0
100.0
100.0
100.0
100.0
100.0
100.0
100.0
100.0
100.0

100.0
100.0
100.0

100.0
100.0
100.0

100.0
100.0
100.0
100.0

100.0
100.0

100.0
100.0

100.0
100.0

100.0
100.0
100.0
100.0
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CH 42-2) ©D| 15| 72N S

AN S | A
3FY 010 3HA-HH SHA~10F 1020t
B e 1000 23 31 R4 12 100.0
ogg
W3 i 167 29 B9 03 89 100.0
B0 oo 316 28 3.6 B3 124 100.0
W0 e 2 12 M5 5.9 1241000
SO O1& o 240 21 %6 540 98 100.0
0 A= 1% 0
K oo 15 18 B2 613 58 1000
EM el 152 21 B3 &7 13 100
B2 oo 104 50 80 R0 L0 100.0
BE el 56 0 B3 67 6.0 1000
B oo 57 L7 %0 467 1T 1000
U it 103 20 50 %0 100 100.0
S el I 0 80 160 01000
HE oot % 0 L0 40 500 1000
EX 2 100 00 400 100 1000
EH e 1 80 5.0 380 L0 100.0
CNE O
AT A e 528 19 308 0.8 66 1000
U8 B i i 25 %93 &3 150 100.0
EACA e bl 55 27 A4 B3 100.0
=X 8l 0
BEZ8 26 29 W07 467 96 100.0
O E ot 534 4 N0 59 T 1000
GDH O v 20 L0 B9 526 L5 1000
0152
2O 3 L5 85 459 1.1 1000
3 e 211 3.5 19.2 7.8 100.0
B e 501 L4 3T s4 o 1L5 1000
B OA e 115 9 .0 160 100.0
08220
I USRS 675 24 34 85 108 100.0
HEUZ 04 oo 35 23 2.2 ®5 121 100.0
0ZYE 0
S U oo 502 6 47 469 108 1000
BY ZE e 198 31 2.4 5.9 1L6 1000
sk 2% 062 0
B e 889 19 R0 543 1.9 1000
O BS o 1 62 5.9 311 58 1000
G2t AS(2H) 0
000 1% .o 97 99 51 33 L1 100.0
20003000, 37 2.9 5.9 7.9 100.0
3000000, ... 31 1 59 105 1000
1000 01A ..o 195 5 1.1 606 218 100.0
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CH 42-3) Q| 15 7N 3

A = 29 H

BH v 9 25  RT 50 37 9 T 100.0
LEERU
DF o % 21 463 43 1T 6 01000
0 o % 21 %8 %0 45 6 Q1000
BOLH o mo23 %o 41 1.0 41000
SOLH 1 o 29 36 N1 Rl 3716 01000
OAF 1% 0
HE vt 025 0 23 64 33 0 01000
B8 e, 2 27 M0 R0 13 0 01000
B v 172 T S - BN Q101000
BE s 5 027 B3 183 187 01000
B e 5 133 450 47 0 0 01000
UB e, 0 40 %80 20 50 0 01000
S8 s It 0 B0 %0 0 0 01000
BF oottt 5 0 60 0 180 0 01000
BZ oo 5 0 500 %0 0 0 01000
EH s 1 80 50 %0 20 0 01000
CANE D
2E B s 528 8 B R 37 0 01000
T8 Z e, 0w 41 4 BT 33 23 31000
ZL TN s bl 64 2T B2 1T 0 01000
=1 &d 0
BE 28 e, 45 31 418 453 38 0 01000
O E oo 24 3.2 5.2 45 16 21000
YT O e, 219 2 N1 my 18 01000
01320
203 s m 57 460 &4 13 16 01000
38 s a0 28 B2 213 4 01000
B s 501 6 M5 85 45 1 2100
5 014 oo 115 9 B3 W7 85 16 01000
824 ()
DE 06 o 3 30 40 54 33 L 21000
B2 UE 04 oo, L5 B 94 46 6 01000
LEN0
B UL v, 501 29 &3 46 9 21000
BY F2 i, 21 BI o 5%0 29 9 01000
O skt 257 62 0
B e & 21 35 %5 37 LI 41000
O B8 s il 53 88 &1 3.8 0 0 1000
g2t AS(R) 0
2000 019 .o 9 L1 46 36 36 0 01000
2000000, % 22 419 k5 27 8 Q1000
30004000, W12 B8 2.6 0 01000
4000 01 oo % L1 s7 6.5 18 33 51000
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CH 42-4) 2EEDIE 18 72A =

Al = YBEDE H

3HE Ot 3B -5 SHE~QH 1020 20HE~30H

B 998 5.9 50.7 3.7 5.8 9 100.0
EER
D2 i 167 1.0 60.4 30.3 1.2 1.1 100.0
B0 316 6.3 49.2 3.1 5.1 3 100.0
B0, 216 41 41.2 40.3 1.1 1.4 100.0
S0CH O oo 240 6.6 49.9 3.9 8.4 1.2 100.0
BESER
M8 425 1.5 4.8 49.1 1.6 0 100.0
B 152 6.0 51.3 3.3 3.3 0 100.0
B e, 103 1.1 60.6 2.2 4.0 1.0 100.0
B 56 1.7 3.0 3.7 1.7 15.0 100.0
B 57 ki 51.7 16.7 0 0 100.0
L 103 9.0 51.0 3.0 6.0 0 100.0
B 42 0 9.0 4.0 0 0 100.0
BT 25 0 4.9 46.9 8.2 .0 100.0
B 25 12.0 76.0 12.0 0 0 100.0
oy 11 4.0 62.0 2.0 14.0 0 100.0
AE 0
LA 528 3.0 43.6 46.1 1.3 0 100.0
e 2 410 9.6 5.3 2.9 3.8 2.3 100.0
EAEN b1 5.1 60.9 21.6 5.8 0 100.0
034240
s R 246 6.6 54.5 5.3 3.6 0 100.0
OF E L 532 6.0 4.9 3.8 8.5 1.8 100.0
HEOMD . 220 4.7 50.8 2.9 1.6 0 100.0
0154
G 0IBE oo, 173 8.7 60.4 2.1 4.1 1.1 100.0
K 210 5.1 56.0 3.9 3.0 9 100.0
A8 500 51 8.0 3.7 6.5 g 100.0
SO o, 115 6.6 38.1 43.4 10.3 1.6 100.0
OECER)
DEOIGH ., 674 6.5 51.3 36.6 4.6 1.0 100.0
B2 UE 04 .o 325 4.1 49.4 %.9 8.1 9 100.0
ER
AL o 502 6.5 53.9 3.3 5.4 1.0 100.0
Y T2 4% 5.3 4.4 40.2 6.2 9 100.0
0 TS7 29 6% 0
R 887 5.8 49.6 3.5 6.0 1.1 100.0
O BR o 1 6.5 5.2 0.7 3.6 0 100.0
22 AS(8) 0
2000 OB ..o, 97 12.3 54.9 2.9 2.9 0 100.0
2000~3000. ... 366 8.4 51.6 2.9 3.0 1.0 100.0
3000~4000. . ... K 3.5 50.7 40.2 51 5 100.0
4000 014 o 194 2.1 3.4 46.9 13.7 1.9 100.0
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(H 42-5) YSENIE 18 72N =Y

Al = 42E0E H
3HE Ot 3T A-58 SHE~T 1020 20HE~30H
R 997 8.3 5.9 21.6 4.0 N 100.0
LEENU
D2 i 166 1.8 66.2 2.5 b 0 100.0
B0 316 1.5 5.0 2.6 4.0 .0 100.0
QO 216 6.1 60.4 2.7 5.5 3 100.0
S0CH O oo 239 1.1 60.3 21.8 4.8 0 100.0
0A= 1% 0
M8 425 5.2 51.0 2.1 5.2 0 100.0
B 152 6.7 61.3 0.7 1.3 .0 100.0
B e, 102 21.4 64.3 14.3 0 0 100.0
B 5% 1.7 3T 4.1 2.3 1.7 100.0
B 5% 211 54.2 18.6 0 0 100.0
O 103 8.0 68.0 2.0 .0 .0 100.0
B 42 0 94.0 6.0 0 0 100.0
BT 25 2.0 50.0 3.0 10.0 .0 100.0
B 25 14.0 18.0 8.0 0 0 100.0
B I 6.0 64.0 2.0 6.0 .0 100.0
CNE D
SR 528 5.1 5.1 31.0 4.1 0 100.0
e 2 408 1.8 0.4 31 2 100.0
EAEN 61 1.1 64.0 23.2 5.2 .0 100.0
0318t 0
s R 245 5.8 65.0 8.4 8 .0 100.0
OHFE oo, 532 8.5 21.6 6.9 2 100.0
EOMO . 219 10.6 62.1 6.7 6 .0 100.0
0 &2
2B 00 112 8.8 62.5 | 4.6 0 100.0
3 210 10.4 66.6 1 1.8 0 100.0
A8 500 6.9 51.8 31.0 4.1 2 100.0
SF 0 L 115 10.0 53.1 6.7 0 100.0
03320
DEOIGH ., 672 8.8 61.2 21.2 2.6 A 100.0
B2 UE 04 .o 325 1.3 51.2 28.5 1.0 .0 100.0
1ge 0
B AL 502 9.6 61.1 26.2 3.2 .0 100.0
Y T2 49 1.1 5.8 2.0 4.9 2 100.0
O ST 2% 62 0
B 887 1.9 5.5 28.0 4.5 A 100.0
O BR o 110 1.3 63.8 2.9 0 0 100.0
g2t AS(2) O
2000 DI2F ..o 9% 14.8 63.5 2.1 .0 0 100.0
200073000 ... ve 367 1.8 63.8 1.9 0 100.0
3000~4000. ... 340 5.0 3.3 8.2 3.3 3 100.0
4000 014 o 194 4.3 4.1 0.2 1.4 0 100.0
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CH 43) 92t O™ 20| FRlok= WHF

e e 2 2 ZHENE  BY  YEEHE

A 1000 21.6 24.6 19.9 14.6 13.3 100.0
LEENU
D2 i 167 2.3 3.3 13.9 13.0 14.5 100.0
B0 316 26.2 21.6 17.6 12. 15.9 100.0
QO 21 26.6 23.3 22.5 14.0 13.6 100.0
S0CH O oo 240 3.6 12.7 4.2 19. 8.5 100.0
0A= 1% 0
M8 425 25.5 2.2 2.3 13.3 16.7 100.0
B 152 22.0 21.3 2.7 21.3 8.7 100.0
B e, 104 36.0 22.0 18.0 13.0 1.0 100.0
B 5% 58.3 16.7 13.3 10.0 1.7 100.0
B 57 25.0 28.3 16.7 23.3 6.7 100.0
O 103 26.0 34.0 13.0 10.0 17.0 100.0
B 42 0 20.0 5.0 4.0 20.0 100.0
BT 25 54.0 18.0 8.0 4.0 16.0 100.0
B 25 30.0 48.0 12.0 8.0 2.0 100.0
B I 16.0 24.0 3%.0 6.0 18.0 100.0
CNE D
SR 528 25.6 26.1 18.9 12.1 16.7 100.0
e 2 an 2.1 21.7 . 18.4 9.2 100.0
LGN b1 31.3 3.4 14.6 6.0 10.6 100.0
0318t 0
s R 246 4.7 19.1 19.4 22.5 14.3 100.0
OHFE oo, 534 2.4 24.8 2.8 12.0 13.0 100.0
EOMO . 220 26.3 0.4 18.3 12.2 12.1 100.0
0 &2
2B 00 173 2.3 2.0 19.7 19.1 8.9 100.0
3 21 22.5 25.4 21.5 14.7 15.9 100.0
A8 501 28.2 245 18.9 14.3 14.1 100.0
SF 0 L 115 32.8 24.9 21.8 9.1 1.4 100.0
EEEN)
DEOIGH ., 675 21.9 2.2 19.2 15.6 13.1 100.0
B2 HEON o, 325 26.8 25.6 21.4 12.6 13.6 100.0
SEENU
S AL 502 21.8 23.6 2.1 16.6 1.9 100.0
Y PR 498 21.3 5.1 19.8 12.6 14.6 100.0
0 ST 2% 62 0
R 889 21.8 4.3 2.5 13.7 13.6 100.0
O B m 2.3 21.2 15.7 21.6 10.2 100.0
o2t AS(2) 0
2000 018 oo 97 19.0 2.8 17.1 2.7 1.4 100.0
200073000 ... 367 21.9 2.1 19.5 14.9 14.6 100.0
3000~4000. . ..., 34 22.2 28.0 19.9 13.3 16.5 100.0
4000 O1& .o 195 40.4 19.2 2.2 10.4 1.9 100.0
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(E 44-1) =HI0] 7140 HINCIA [Hal 26k= &5
NY4 BY EE QAN T N} UMENE B =A0 NE MU & ESEDE 23 wr

3 o %1 M3 86 83 15 51 36 38 3 25 09 8300
0250

N5 oo, 6 %8 ®2 L1 &1 22 86 LT 18 400 L1220 e

W, ¥} 5T BT 98 88 02 AT 33 46 4l 20 15 % 3 1o

W..... moo%4 A5 58 86 81 63 36 a1 35 16 5 Ll .9 810

50004 ...... MoRT BT 14 82 B T4 36 a0 23 32 15 450
032150

HE oo Boowe B4 0 88 48 33 36 21 a0 30 153 15 3 I

BN BoO®3 O ®IWT 21 83 53 0 40 1300 10

07 W0 B0 60 M0 B0 MO 20 L0 .0 40 L0 20 .0 .0l

BE % 43 07 83 33 11 .0 50 BT LT .0 LT 0 LT 0 o

B v 5 %1 A7 By W1 83 &1 0 L1 0 0 .00 .0 0

0F oo om0 RO 0 30 W0 L0 1m0 3020 20 L0 10 .0 10 1l

SN R0 R0 40 40 20 40 80 00 00 60 .0 40 .0 0100

BE s 5 oO%0 B0 40 80 80 400 400 0 .0 4000 o

B ... 560 60 60 R0 B0 KO 80 .0 0 B0 .00 .0 010

o, %0 200 R0 60 40 20 4020 .0 6020 40 .0 20 100
0CNE0

AT Woo%0 a9 &1 17 29 51 2828 28 L4 412 4 I

Tg2e ... 0wl B8 8y 18 66 23 B3 40 195 125 .0 I

SAEH ..., IR Y B X B | Mg 4020 0 44200 4o
0F1EH0

gEze MooN5 B0 W8 52 45 63 21 40 15 3 8910 0 I

OIE ... W87 82 &2 W15 46 55 41 32 16 .9 10 & 5o

GUOAO.. o R A2 13 4% 52 11 1y 26 47 38 L2 5 .6 0 o
07520

B0 ..., mooBIMe W8 W2 83 48 38 38 29 28 6 6 15 .0l

B o, 2RI A2 66 50 06 &6 49 23 28 22 L2 3 120 I

T W M8 A7 95 97 62 32 35 40 3322 .8 Ll 62 I

504 ..., M5 Ml 6T B 64 120 33 53 3 40 199 0Ll
0822

DE0..... 5 %2 M1 83 68 11 56 43 45 26 20 L0 10 .93 I

EROE0M. % 41 85 42 A4 82 329 22 A4l 21 & 6 1 i
03880

S0 .... W% 20 16 83 62 60 35 33 3% 35 L0 8 5 0 I

BAZE Mooy BS54 83 88 Al 42 42 2k 16 L0 % 12 5 I
0 157 25 0% 0

B9 W4 2% 87 42 13 46 41 38325 10 L0 93

0 3...... meooas B0 83 LI &6 87 21 3% a9 000
0 %250

mog...... wooB2 N3 1 %5 B 680 120 B0 LT 0 130

20030........ ®oOWT W0 8l 62 11 60 32 a6 2% 3 4 10 L6 3o

0-400........ wooM6 A% 4l 80 L 38 AT 36 31 1% LT L0 4

0o A ....... 25 BY 16 R34y 41T s 52 413 185 T 0l
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My s QdN  BY YSEQE AN} QUENE HUL  E: 2% 23 ] 4 =20 R HE Ak e A
), B o’ 3 W6 W4 85 BT B4 51 4523 137 6 400
(%280
B3 o w5 w0 03 6T 82 87 10 4% 20 6 28 13 46 0 0 qme
W ¥ B6 88 I 03 88 T4 18 B0 B 4238 4200w
0o moo®3 W60y 01 %5 16 51 88 24 L& LT 5 854
I w83 M4 85 B3 N6 M 86 BT 66 1 LT 9 3 0 .0 .0 00
03790
HE v g5 w5 R7T0d B3 76 MY 3 3319 08 1839 330w
I o ®0 B3 N7 &0 60 33 47 20 121 0 000 0w
LR W0 W0 W0 B0 W0 80 %0 K20 20 0 .0 .0 100 0wl
IE s 5 50 83 00 50 B0 M7 .0 33 67 33 .0 LT 00 .00 00
B8 e 5 83 A0 00 61 W0 67 80 B3 0 0 00 0 000 W
U e W /0 W0 om0 80 L0 %0 RO 50 30 30 20 L0 L0 L0 0 L0 e
S R 40 40 40 20 R0 &0 WL 0 20 K0 .0 B0 20 0 .0 .0 D
BE s 5 R0 20 W0 40 20 B0 0 B0 0 0 .00 020 .00
B 560 R0 20 20 WD &0 !0 M0 20 K0 &0 .0 .00 .00 D
2 M0 MO MO0 00 120 B0 20 4020 .0 0 60 .0 .00 .0l
0 CHE (
A0 g6 4 6 R3 83 W5 85 37 69 20 18 49 422l
1439 4o®3 RS 96 88 BB 58 18 68 13 26 8 L2 3.0 .0 w0
EACH s o BI 83 83 42 87 @1 83 S 1225 33 L0 8 0 .0 Il
071880
ioE L %03 W3 0T & 0y M6 6 36 28 %026 LT 15 4.0 .0 00
UBE....... 87 B0 94 02 88 54 68 13 43 2l 5 6 0502w
CUAG.. 2 %3 1% BY B0 98 BT Sl 4D BB 13 L6 .0 L0 0 .6 .0 00
09520
B0 moomzo 4 50 2 80 54 5% 68 51 13 25 L6107 0 me
B Al M3 85 4 B0 M0 T2 AT 30 18 .0 6 10 0 05
B W57 03 BC 87 10 %2 &1 61 57 26 LT 43 400w
504 o 39 W0 W6 W03 12 15 45 A0 LT 28 0 L8 00 0wl
038 (
E03...... 5 A0 M8 1z 4 09 81 6k B4 4225 L 1220w
EROZOM. % a0 1’3 84 03 68 80 65 42 52 18 .8 8 4803w
0522 )
S ...... Wooad Wz om0l 82 61 A 38 22 8 642w
BYFE 83 05 00 85 %0 83 &l 0 52 26 186020 .0

............ 8 57 121 1.2 9.5 9.4 8.4 6.2 6.2 45 2.1 1.4 .6 9 A 0 d 1000

0 &%.... i 35 8.2 55 16 105 I3 8.0 1.6 4.6 36 3 1.9 1.2 0 1.2 01000
092 A5(™) 0

mo0.... [ N 1 6.1 63 B4 6l 6.5 19 37 1.0 21 1.3 0 0 0 01000

200-300......... ¥ B9 04 10 106 9.6 9.9 6.6 5.2 30 1.4 8 g b A 001000

3000-4000......... K 86 134129 8.5 8.4 6.9 59 43 59 : 8 .6 2 A 0 30100

o 0% ... 1% 07 WS 80 102 9.6 6.8 6.8 18 54 0 1.3 5 1.2 3 0 01000
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CH 44-3) QD 1401 HIMCIEH THal FRlok= &=

NE4 e GAT  ET UEDE ©)  HUU =80 ¥BSDE A WE 22 92 8 T 9w ¥
8 1000 8.5 1.8 10.0 8.5 11 6.1 5.6 5.4 41 32 3.0 3.0 1.6 1.2 201000
167 5.3 9.9 10.6 5.2 10.0 40 1.0 6.8 6.5 4.4 1.8 5.0 1.2 1.1 61000
316 81 16.1 9.6 6.0 8.9 14 40 6.5 46 33 3.6 35 1.9 9 01000
m 0.9 1.2 1.0 10.7 6.2 5.4 6.4 48 34 23 3.2 22 20 1.3 001000
A0 3.6 8.3 8.8 11.6 6.1 6.8 5.8 38 28 33 28 1.9 9 1.1 A 1000
0 7% 0
HE .o, 125 8.8 13.3 6.1 8.8 1.6 6.4 4.2 1.6 4.2 45 3.0 30 1.2 1.2 001000
L L 152 %.7 18.7 18.7 6.0 40 8.0 40 20 20 20 20 20 20 20 01000
U3 104 17.0 10.0 8.0 14.0 19.0 1.0 30 20 12.0 3.0 1.0 40 4.0 0 20 1000
B 56 b1.7 3.3 6.7 1.7 1.7 1.7 33 3.3 0 5.0 1.1 A0 0 A0 01000
U8 .. 51 KiN) 10.0 18.3 33 15.0 1.7 1.1 33 1.7 0 A0 33 0 0 001000
B 103 5.0 8.0 14.0 3.0 3.0 9.0 13.0 9.0 20 20 5.0 40 1.0 20 01000
i, 1Y 2.0 20 10.0 2.0 20 10.0 6.0 40 6.0 4.0 0 2.0 4.0 20 001000
55 TP 2 5.0 14.0 8.0 40 10.0 40 20 A0 40 0 A0 A0 0 20 01000
BF s i) 12.0 6.0 8.0 16.0 8.0 12.0 12.0 40 20 0 6.0 12.0 20 0 001000
Ao 1 10.0 12.0 6.0 18.0 8.0 16.0 6.0 10.0 8.0 0 20 0 20 20 01000
0520
G U 528 8.0 12.3 1.6 11 6.7 6.9 6.0 1.9 38 4.0 34 32 1.2 14 001000
3% 4 0.2 1.5 13.4 9.1 8.8 41 49 26 4.6 26 26 24 22 9 S 1000
SAEN . ] 8.0 10.4 1.6 11.4 8.8 9.4 6.8 34 39 0 2.8 49 1.2 1.2 001000
031880
=78 .. 26 3.1 121 8.6 18 5.8 51 45 6.1 5.4 20 33 1.8 2.6 A1000
OHE ... 534 2.2 1.1 11.2 8.8 8.4 46 6.5 3.6 44 39 41 . 1.6 8 001000
GEOMG... 20 2.9 10.8 8.6 8.6 8.1 11.0 41 9.1 22 28 2 1.7 1.3 5 B 1000
07240
00 ....... 11 30.0 1.3 1.3 10.5 1.4 51 19 5.4 43 1.7 1.9 35 1.7 9 61000
B, 21 2.4 12.8 10.9 11 11 9.1 51 3.6 44 43 29 1.0 .6 B 1000
L BT 501 8.1 1.1 9.9 8.1 1.3 6.2 53 1.0 38 30 . 31 20 1.6 001000
SE04 . 115 3.8 140 13.0 8.5 9.8 1.3 44 21 51 43 21 1.8 9 9 01000
(EEEY
DEO ... 675 31 10.7 10.0 9.5 1.4 6.0 6.0 5.2 41 26 3.0 28 1.0 3 31000
HZOHEON. 3B 8.2 1.1 10.0 6.4 8.3 6.5 46 58 43 44 31 35 21 31 001000
(REEY
u L 502 2.8 1.1 11.2 9.7 1.4 5.0 4.6 6.1 48 25 31 33 1.3 1.9 201000
§E 2. 498 0.3 12.6 8.1 13 8.0 13 6.6 41 35 39 3.0 21 1.9 5 201000

............ 8 21 e 103 8.0 8.1 55 5.2 55 44 33 32 33 1.7 1.3 21000

0 8%... i 21 1.4 18 125 2 13 8.3 49 23 21 1.7 5 9 0 01000
092 25(2) 0

w002 ....... a8y N 8.1 12.3 51 TLe 51 1.3 6.7 1.0 1.0 41 21 0 01000

2000-3000....... ¥ 06 07 19 11 6.7 10 6.4 6.0 30 1.6 39 20 22 b 31000

3000-4000....... kY %0 124 8.5 87 8.5 6.6 49 5.6 45 40 21 40 1.0 1.3 3100

000014 ... 1% 20 130 8.1 8.9 9.2 1.2 54 6.0 43 59 3.0 23 1.1 2.8 01000
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CH 44-4) LEE0IEJH JH=H0] HINCHE Chal 226k= &=

NA4 SENE HUU QBT 4¢ BT #9280 23 A IS B2 WE  # 8 onge A
i 1000 4.4 1.6 6.7 6.4 5.9 5.1 5.3 4.8 41 41 L1 1.6 1.6 1.4 Y 201000
09220
N& .o, 167 2.9 5.4 4.8 32 6.6 4.3 11 6.2 6.2 40 2.6 1.5 2.6 22 0 001000
L[5 [ 316 W3 9.2 6.3 34 4.0 4.6 5.9 38 41 42 29 1.9 1.9 3.0 0 001000
o m 87 19 8.6 19 13 6.6 5.2 55 3.8 39 2.6 1.0 5 2 0 A 10,0
S04 ... 10 N 6.7 6.4 1.0 6.5 1.2 32 44 48 6.6 26 21 1.8 2 N 20 100.0
0720
HE i, 5 8.8 10.0 39 1.0 4.5 5.8 21 39 2.4 39 1.8 9 21 1.8 3 0 1000
2 15 W1 13 10.7 6.0 8.1 41 13 33 9.3 21 L1 1.3 1.3 0 0 001000
U3 104 2.0 4.0 4.0 8.0 1.0 8.0 9.0 1.0 8.0 10.0 1.0 6.0 0 1.0 0 1.0 1000
T 5 5.1 33 5.0 1.7 1.7 5.0 6.7 1.7 3.3 5.0 17 0 0 33 0 001000
UE .o 5 18.3 1.7 .7 13.3 6.7 10.0 16.7 5.0 1.7 5.0 0 0 0 0 0 001000
OB o 103 5.0 9.0 11.0 20 12,0 2.0 40 14.0 1.0 1.0 12,0 0 0 1.0 0 001000
g @ 60.0 2.0 0 20 0 4.0 20 0 4.0 16.0 0 4.0 40 2.0 0 001000
KE ............ PA) 50.0 6.0 2.0 12.0 0 6.0 20 2.0 20 6.0 20 40 0 2.0 2.0 20 1000
B PA) 40 12,0 10.0 10.0 8.0 12.0 18.0 4.0 8.0 0 2.0 6.0 20 40 0 00 100.0
o 1 62.0 8.0 6.0 20 4.0 6.0 6.0 0 20 40 0 0 0 0 0 0 100.0
050
2Cd 528 i1 9.8 5.3 6.0 6.0 5.0 25 59 33 34 38 N 2.2 17 2 001000
g 3% ... i 3.6 46 8.6 8.5 6.1 6.2 8.4 38 6.6 6.5 1.5 24 9 9 0 30 100.0
FAEN ... ] B2 8.8 6.0 9.4 4.0 8.5 9.3 25 45 32 1.6 41 8 25 8 41000
031380
H= 38 . 6 2.2 18 35 49 19 1.0 44 5.8 1.2 33 25 2.3 1.1 0 0 001000
OHE....... 534 39 19 8.2 6.7 4.3 6.3 5.2 4.6 4.9 55 33 14 . 2.0 3 301000
®YOND.. 2 1% 6.6 6.7 1.6 11 29 6.8 42 1.6 43 14 1.4 29 14 0 001000
07240
B0t 173 3.3 6.6 45 1.0 6.8 5.4 6.5 L1 4.0 6.8 31 1.7 1.5 21 0 001000
L 21 3.8 6.9 8.2 30 6.7 8.5 51 8.1 5.1 29 1 1.0 1.6 8 0 201000
@ 501 4.9 8.5 1.0 6.6 55 41 49 4.3 4.8 44 29 1.9 1.5 1.6 3 201000
SE 04 115 41 6.4 6.0 49 5.0 5.5 6.0 31 3.8 51 49 1.7 20 A A 01000
032
1E0G ... 675 3.6 6.8 1.3 11 6.0 5.6 5.2 5.2 4.9 41 3.0 14 1.3 1.2 A 201000
B2 HEON. 0 0.1 9.4 5.6 38 59 6.0 5.6 41 44 45 2.0 21 22 1.8 4 0 100.0
0128 )
A0 ... 502 4.3 6.6 6.5 5.3 5.6 5.6 6.3 51 41 41 28 1.7 1.8 1.6 3 001000
§E 2. 198 3.5 8.6 6.9 1.5 6.3 58 44 45 48 4.6 26 1.5 1.4 1.2 A 30 100.0

............ 8 N8 13 6.7 6.4 6.0 51 58 49 49 49 25 1.5 1.8 1.4 2 201000

0 &%.... m 64 87 6.6 6.8 5.0 51 1.9 41 32 21 4.6 2.6 0 1.6 0 0 10,0
092 A5(™) 0

W0 0% ... g K 1.1 35 13 8.1 6.6 6.2 35 11 54 21 30 0 9 0 01000

200-300......... ¥ WS 8.4 13 6.7 43 6.4 58 4 51 44 2.2 1.3 1.2 1.2 0 d 1000

3000-4000......... w83 41 1.2 53 1.8 3.8 53 54 4.0 35 . 1.8 1.5 23 0 001000

o 0% ... % %5 N 6.3 54 4.6 1.5 41 53 2.9 6.7 1.1 1.3 32 1 9 S 1000
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(H 44-5) YEE0IEt JH=H0] HINCH Chal F226k= &=

A4 QUEHE DI BUL SN 2B A RE I ¢ 80 =0 4 WE 92 oMY e A
8. 1000 31 9.5 8.5 15 11 55 4.8 48 41 39 24 1.7 1.1 9 3 A 1000
05220
N8, 167 8.5 145 8.5 12.2 6.3 6.9 47 6.0 21 20 1.2 1.9 4.0 0 .6 5000
[ I 316 %3 9.8 9.0 1.9 8.7 5.0 4.0 40 2.2 4.2 21 1.3 21 5 0 001000
o ... m 384 8.0 8.2 6.8 51 43 54 44 5.6 4.8 45 1.5 1.3 1.3 A 001000
5008 014 ...... mw R 1.2 8.4 Ly} 1.9 6.6 5.2 54 6.4 38 1.2 2.3 0 1.8 A 201000
035 1% 0
RE ., A] 5.2 8.2 10.3 5.2 1.0 55 36 1.8 45 33 1.8 1.2 1.8 b 0 001000
o 152 %3 8.7 53 147 10.0 33 4.0 41 N 20 21 N 33 N 0 001000
U2 04 300 12.0 8.0 5.0 4.0 8.0 4.0 8.0 6.0 5.0 1.0 5.0 .0 2.0 2.0 001000
33 5% 3.3 13.3 5.0 1.1 5.0 5.0 133 33 33 5.0 33 0 0 33 0 001000
U8 5 15.0 16.7 500 T 3.3 6.7 0 6.7 6.7 15.0 1.1 0 0 0 1.1 001000
S 103 12.0 8.0 13.0 9.0 8.0 6.0 11.0 15.0 3.0 3.0 5.0 3.0 4.0 0 0 001000
U 2 80 0 0 20 8.0 6.0 2.0 0 0 0 4.0 6.0 .0 2.0 0 2.0 100.0
B 5 0.0 8.0 12.0 4.0 12.0 40 0 20 6.0 6.0 0 0 0 40 0 20 100.0
BF % §0 240 8.0 20 8.0 8.0 10.0 8.0 18.0 .0 6.0 0 0 0 0 00100
oo 1 52.0 8.0 10.0 4.0 6.0 40 20 8.0 0 4.0 20 0 0 0 0 001000
0 S
. U 2 B 8.1 10.8 59 1.2 5.6 51 44 42 33 24 1.6 2.2 5 0 001000
g ae.... 4 %.4 10.4 5.4 10.1 6.7 55 45 51 31 4.8 2.3 21 1.2 1.4 N 21000
LGN ... bl 8.0 14.6 10.0 32 9.3 5.6 4.5 59 9.9 32 2.8 0 0 1.6 0 8000
031360
=28 ... U N9 9.8 10.0 4 46 6.2 8.1 33 21 5.0 2.8 21 1.9 9 A 001000
UHE ... 83 10.1 8.3 11 8.2 53 41 4.6 38 3.6 24 1.8 1.7 9 2 3000
CHONG.. 39 15 14 6.9 1.2 53 29 6.8 6.6 34 20 1 1.5 1.0 5 001000
03220
B0t 113 3.9 10.4 11 13 40 6.5 6.4 38 14 2.6 1.9 2.2 21 1.8 .6 S 1000
£ IR 21 3.8 6.2 10.0 1.6 10.1 5.6 55 45 1.4 4.9 N 25 21 6 5 001000
1B 501 3.6 10.0 8.3 1.5 6.6 57 39 5.2 43 35 2.6 1.6 1.6 A 2 001000
B8 ... 119 30 114 8.1 4 8.2 33 51 49 37 54 57 0 9 2.6 0 A 000
(EE]
1E0a ... o5 3.2 8.1 8.1 1.0 1.0 51 55 51 5.3 45 21 1.4 1.4 1.1 A A 10,0
STOHEO8. % 30 12.2 9.4 8.5 1.3 6.4 34 41 1.8 21 1.7 23 24 .6 0 3000
0522 )
2890 ... 0 85 9.7 8.7 §.2 5.6 57 4.5 3.8 3 47 2.6 24 1.2 1.0 0 00000
IR B ne 9.2 8.3 6.8 8.6 5.4 51 51 49 31 22 1.0 22 8 .6 3000

............ 8 40l 8.3 4 13 53 45 4.6 40 35 24 1.7 1.9 8 2 201000
ohes.... 1 3.2 20 0.2 8.2 59 14 6.9 6.0 51 6.6 24 1.9 0 1.1 9 01000
092 A5(™) 0
mo0.... g 3 1.5 57 52 14 43 53 6.0 6.2 1.6 2 Il 21 2.2 1.0 01000
200-300......... ¥ %3 8.4 §.3 8.0 14 5.0 ) 40 5.6 33 29 1.6 Il 11 0 201000
3000-4000......... K o 17 9.7 8.3 6.6 51 4. 53 2.3 2.6 21 2.2 23 A 3 01000
o 0% ... 1% 34 6.7 8.3 .1 1.2 8.0 51 4.6 35 53 2.1 1.3 1.3 1.3 5 31000
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(F 45-1y 28 I BISE

RS A% €€ 328 1
528
8E 82 -0k B0 19100 -9 19 049 209 0014
B 1000 3.0 .6 1.5 55 2.0 1.5 B1 8.8 20 100.0 5,03
09z )
N i 167 3 0 .6 5.2 24 6.8 1K 6.1 21 100.0 579
316 2 1 1.0 41 1.6 .3 3%.8 8.8 341000 6.27
O m 2.2 1.1 1.6 5.3 1.6 8.1 a1 1.5 91000 45
SO0 04 e, 10 2.9 A 28 1.8 26 6.2 8.4 14 1.5 100.0 34
0IET%0
HE i, 5 0.1 0 1.5 42 3 4.2 4.3 8.5 1.8 100.0 5.96
24 15 5.0 1 N 12.0 6.7 8.0 12.0 1.3 1000 WAl
U7 ..... 104 3.0 5.0 40 1.0 1.0 13.0 17.0 18.0 30 100.0 4.2
Lo 5 16.7 0 0 5.0 0 10.0 5.0 18.3 50 100.0 9.67
Us ... 5 5.0 0 6.7 6.7 5.0 1.7 B3 1.7 01000 1.93
O ... 103 1.0 0 0 8.0 4.0 14.0 53.0 8.0 20 100.0 140
ETUN Q %.0 0 0 A0 0 0 0 0 40 100.0 1.2
Xﬁ ...... 5 3.0 0 0 0 0 12.0 3.0 10.0 20 100.0 1.00
3 . PA) 0 0 0 10.0 20 0 52.0 340 20 100.0 11.70
EH o, 1 52.0 0 0 20 0 16.0 18.0 4.0 8.0 100.0 6.68
0ZHE )
2L 528 8.6 0 1.2 5.0 1.0 6.1 0.8 8.4 1.9 100.0 6.24
T8 2% i, i 8.0 1.5 2.2 6.3 34 9.2 19.5 18 21 100.0 2.9
BLEN 1 0.9 0 0 45 8 1.8 4.2 18.8 301000 8.8
031880
e B U6 3.8 8 21 9.4 2.0 9.5 5.8 10.1 231000 4.26
MEE i, 534 0.2 8 8 31 24 8.4 5.6 1.2 20 100.0 5.16
GEOHD .o 20 3.8 0 21 5.4 1.0 31 5.0 1.1 1.9 1000 5,56
024 )
00 173 40.9 .6 3.8 9.4 1.2 5.0 8.9 93 1.0 100.0 313
B 21 07 5 2.0 5.6 31 9.6 34 5.2 1.2 100.0 3%
B ) 501 31 8 9 45 1.8 6.8 3%.3 9.5 23 100.0 579
SO e, 115 3.2 0 0 37 8 10.5 8.3 9.6 39 1000 6.24
0352 )
DEUG oo 675 1N .6 1.6 5.2 22 1.5 0.6 9.8 1.8 100.0 47
HEUE 0 o, 35 B4 .6 1.3 6.0 1.5 1.5 4.3 6.7 25 100.0 5,51
0 52¢ )
BHAL o 502 4.4 8 2.0 40 24 9.7 0.0 8.8 1.9 100.0 4m
B2 i, 49 3.5 A 1.1 1.0 1.6 5.3 3%.1 8.1 22 100.0 5.3
0 17 9 02 0
B 889 B1 .6 1.1 48 21 1.9 345 9.0 1.9 1000 5.3
O BS 1 4.0 9 5.2 11.2 9 43 21.5 6.6 321000 212
082 AS(2) )
2000 019 ... 9 4.5 1.1 47 8.5 1.0 10.3 2.0 39 1.1 100.0 214
200043000, 37 3%.9 0 14 8.1 32 1.6 3.1 9.5 23 100.0 5.12
300044000, Kl 3.6 .6 1.1 20 1.6 6.4 B3 9.3 L1 100.0 5,63
Q000 014 v 195 0.1 1.6 1.1 5.2 1.0 8.1 0.5 8.9 35 100.0 5.2
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CH 45-2) ©0| VA BHISE

M % B 528 A @)
348
BECS NG BN A0 9 Bl 0
S w45 4 190 22 65 AF 18 20 m0 4
(%320
D3 oo %40 0 82 6 6T B2 83 36 0 58
¥ 437 6 6% 22 68 B6 &L 33D 5%
1 moows 8 32 58 20 14 B4 038 W0 a9
B0 014 v Woos3 0 316 32 48 8% 40 8 D 2%
037 1% 0
RS oo Boous 3 20 456 a0 B6 09 2T D) 5
I Boo%0 .0 1 W18y 21 Rl 1m0
07 ...... 500 30 40 50 L0 70 0 10 30 im0 22
2z . B 830 LT 0.0 B3 B3B3 50 W0 1%
05 ... 5 KT 0 33 83 11 &3 67 33 LT ) 4%
0 ... w00 .0 .0 B0 A0 A0 B0 80 L0 Wm0 15
o, Rome 0.0 00 0000 m)
B 5O%0 0 .0 0 .0 60 B0 80 .0 W0 4T
E 5.0 0 20 %020 20 60 .0 .0 0 3l
2R s %00 .0 0.0 B0 D0 A0 40 0 54
0SNED
BEA e Woo®s 2 20 46 L1 L1 %403 2k Wm0 5§
B oeowmeo 8 19 82 39 8T A2 53 L8 Wm0 2%
BLCH e I X TN Y SR Y SN S SN Y S BN/ { R
0Z1800
BEZ8 e, ooBE 412 81 29 54 %5 82 2l D A%
= BOoM8 4 18 62 26 14 Ry 6y L1 ) 4l
O T s moowy 6 29 16 6 55 A1 88 3% WD 4k
04 )
0% e moosT 0 28 W2 L8 53 Ay 3T 5 om0 28
B s 243520 18 31 66 86 65 2k D AT
B oo WD 7 L6 58 13 69 M0 412l ) 5@
L K6 .0 8 60 L& 63 W6 ALl 38 om0 4
08220
=Y LA M5 L2 5 23 12 2 68 B2 11 20 0D 3
B2 UE 08 oo, W™ooBE 3 L0 6 59 ®I 82 23 0 51
03920
SEU v W2 852 16 5T 28 84 B1 81 16 0 43
BESE s Moo®5 7 22 83 16 45 Ry 1T 26 W0 4D
05k 29 020
ES e W40 4 18 63 23 69 38 80 L6 0D 4M
= meoo60 9 2% 5 L8 34 w1 6T 60 1m0 30
0 92 A5(%) 0
o ... g oom2 L0 B L 33 W6 16 LI om0 20
S ®oo®s 425 88 3018 N6 192l w0 40
A WMz 38 4219 58 N6 92 28 0 52
IO e 5 B3 5 28 B0 L0 68 R0 86 13m0 418
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(H 45-3) &9 JH4 HISE

s 19528 iR
528
HS Y8 006 292 1910 G- 19 1019 209 30014
e, 1000 %7 A 1.8 12.3 33 1.6 2.0 51 1.0 1000 203
09220
N i 167 51.6 0 1.7 10.6 24 6.9 2.1 39 91000 2
316 433 0 .6 12.6 33 10.0 2.9 6.3 20 100.0 32
m 4.2 A 21 13.9 L1 8.0 5.6 4.6 S 1000 1.76
10 50.8 0 31 1.4 4.4 45 0.4 51 A100.0 1.39
5 4.3 0 3.3 14.2 .6 48 2.5 6.7 15 100.0 219
15 5.7 0 N 1.3 4.0 33 1.3 4.0 11000 1.57
104 68.0 1.0 1.0 1.0 1.0 8.0 11.0 20 1.0 100.0 1.01
5 .7 0 1.7 10.0 5.0 1.1 5.0 13.3 171000 5.5
5 5.0 0 0 1.7 10.0 13.3 5.0 5.0 01000 457
103 13.0 0 0 5.0 13.0 0.0 2.0 3.0 001000 1.05
21000 0 0 A0 0 0 0 0 01000 .00
5 50.0 0 2.0 20 2.0 14.0 2.0 2.0 20 100.0 4.00
PA) 0 0 0 2.0 20 8.0 66.0 20 01000 510
I 60.0 0 2.0 0 0 16.0 14.0 4.0 40 100.0 440
052 0
2E A 528 4.6 0 21 16.3 3.0 18 24 6.0 1.2 1000 1.97
TS i, i 5.9 3 N 1.6 38 6.7 18.8 45 1000 22
BLEN 1 3.2 0 1.2 9.9 1.6 1.9 4.3 24 15 100.0 452
03720
e R Uf 3.0 A 1.5 1.7 1.2 1.4 5.2 11 1.7 100.0 353
BIHE . 534 4.8 0 1.2 13.6 45 8.4 21.5 36 A 1000 1.63
GEOND ..o, 00 5.8 0 35 9.9 25 5.8 19.7 6.0 1.8 1000 203
0540
00 173 49.6 0 2.8 13.1 23 5.9 .7 41 5 100.0 1.3
B il 8.1 5 1.3 6.9 4.6 1.3 2.1 5.2 A 100.0 210
B ) 501 42 0 1.9 141 31 8.5 2.1 5.8 1.3 100.0 232
SEOY 115 5.9 0 8 13.5 3.0 1.0 19.0 31 22 100.0 25
03220
DEUG oo 675 4.0 2 2.2 12.1 3.0 1.4 2.2 5.8 1.1 100.0 25
HEMEON o, 325 1.1 0 1.0 12.8 38 8.1 5.6 38 81000 219
GREEN]
BHAL o 502 $§1 0 1.3 10.2 31 9.1 2.0 5.8 31000 L4
Y22 198 54 2 23 145 34 6.0 2.0 44 1.8 1000 1.9
0 IR 22 42 0
B 889 %.9 0 1 125 3 8.0 2.2 48 1.0 1000 23
O BS 1 455 9 1.5 1.1 1.8 4.2 2.6 14 91000 1.12
082 A5(%) 0
000 02 ... 9 52.4 1.1 31 10.3 3.0 5.1 2.6 22 LT 1000 %8
200043000, 37 3.6 0 1.6 10.7 4.2 1.6 2%.4 49 1.0 100.0 28
300044000, Kl 4.0 0 2.3 11.6 23 9.6 0.7 55 1.0 1000 L8
Q000 014 v 195 49.4 0 3 1.7 32 51 16.8 6.4 1.2 1000 1.66
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(HE 45-4) EIEDIE J1A HSE

g% YHENE 25 roogd

Bz U8 -W0lot 2920 1910 -Gl 1~ 019 208 0X

B 1000 4.8 Ki 1.6 51 29 6.6 0.2 55 111000 3.6
002 )
N3 167 4.3 9 2.2 39 26 8.3 0.1 4.4 23 100.0 38
316 4.6 Ki . 5.2 41 6.6 2.0 59 6 100.0 3%
m 4.5 0 1.7 6.5 2.0 6.8 8.4 6.0 LT 1000 361
%0 5.4 0 2.0 41 26 5.2 2.5 5.1 1.0 1000 38
2% 9.7 3 21 48 .6 45 0.1 6.4 1.8 100.0 KA
152 5.7 0 N 33 6.0 2.0 2.0 21 1000 2.69
104 60.0 1.0 2.0 20 0 4.0 3.0 1.0 1.0 1000 35
5 .7 0 1.7 5.0 33 1.1 033 13.3 001000 6.5
5 %7 0 0 33 10.0 16.7 8.3 5.0 001000 m
103 2.0 0 0 12.0 8.0 2.0 3.0 40 001000 380
2 10,0 0 0 0 0 0 0 0 01000 .00
5 5.0 0 0 8.0 40 6.0 2.0 2.0 20 100.0 2.60
5 0 0 0 16.0 2.0 0 16.0 4.0 20 100.0 130
I 5.0 2.0 0 0 0 12.0 2.0 6.0 40 100.0 47
05N 0
2C A 528 439 2 2.2 6.2 2.0 1.6 04 59 1.5 1000 378
g BY i 5.1 Ki 1.0 29 41 5.1 5.3 5.3 51000 3
BACN ] 2.1 A 0 9.9 25 4.6 w1 35 24 100.0 49
031880
S 2 6 4.8 0 9 1.0 1.6 6.4 3.8 5.0 A 1000 3.66
BE i 534 4.4 5 1.3 37 31 8.0 2.8 59 1000 3.66
GEOHO . 0 9.8 0 29 6.2 25 33 2.2 5.1 29 100.0 35
07240
173 52.9 1 2.8 59 28 3.6 2.0 24 28 100.0 240
M 3.6 A 2.2 43 3.0 6.1 w7 53 11000 4.0
501 6.5 2 1.0 5.2 29 8.6 0.3 55 11000 3%
115 53.6 0 8 48 26 32 B3 10.3 1.3 1000 418
032 )
DEOT i, 675 8.1 2 1.7 59 29 5.1 0.3 51 1.0 1000 33
HEUE S o 35 1.1 A 1.2 34 3.0 8.4 8.9 6.3 141000 416
(REER
FAAL i 502 5.8 Ki 1.4 54 36 14 2.5 5.3 1.3 1000 314
YR 198 4.8 3 1.7 48 2.2 5.8 3.9 57 91000 412
0 TSR 52 62 0
B 89 1.6 Ki 1.5 49 29 6.9 0.5 5.2 1.3 1000 3.68
0B e, 111 9.7 0 21 6.8 2.6 41 2.8 19 001000 32
082 A5(2)
00002, 9 5.6 0 1.0 9.3 2.0 42 B4 44 001000 212
200043000, 37 0.7 A 21 6.1 34 6.2 31 51 S 1000 354
30004000, k| 8.6 Ki . 31 40 11 0.9 47 1.9 1000 .21
000K o, 19 5.8 0 1.8 45 5 15 21.6 6.9 141000 35
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(E 45-5) HSENIE J1A HSE

g% Y2e0E 228 I g

Bz U8 -W0lot 2920 1910 -Gl 1~ 019 208 0X

B, 1000 51.3 5 1.5 51 32 6.9 .1 55 1.3 100.0 3.05
002 )
N2 167 8.1 A 14 41 31 1.3 0.2 4.8 141000 3
316 1§82 1 1.2 44 39 8.3 8.5 8.0 1.6 1000 3.69
m 5.2 5 1.2 8.4 17 1.0 2.4 6.6 1.2 1000 291
%0 51.6 A 21 5.4 38 4.6 B3 1.5 1.2 1000 1.91
2% 5.9 b 21 48 .6 33 5.6 8.2 21 100.0 38
15 61.3 1 1.3 13 9.3 21 16.7 1 01000 2
104 140 1.0 0 5.0 0 3.0 10.0 6.0 1.0 1000 1.80
5 .7 0 1.7 5.0 33 16.7 833 8.3 0 100.0 510
5 4.0 0 0 0 13.3 16.7 5.0 5.0 001000 3.68
103 18.0 0 0 5.0 5.0 5.0 3.0 4.0 01000 5.60
2 10,0 0 0 0 0 0 0 0 001000 .00
PA) 8.0 0 0 A0 20 40 0.0 4.0 120 100.0 1.50
5 0 0 0 8.0 2.0 2.0 8.0 0 001000 - 10
1 54.0 20 0 A0 0 140 2.0 6.0 40 100.0 468
0520
A 528 4.9 K 2.2 49 1.5 1.6 0.4 14 L7 100.0 391
g 2% i, i 60.1 5 1 41 5.8 6.3 18.1 36 31000 1.83
BACN ] 0.3 A 0 19.8 1.6 5.0 5.6 21 56 100.0 381
031880
e R U6 50.5 A 9 13 4.4 5.2 U4 6.2 51000 28
BE i 534 5.7 5 5 49 28 9.8 1.9 41 1.8 100.0 346
BHON .o, 20 5.5 .6 44 5.8 29 1.8 2.6 8.2 1.2 1000 23
0754 0
173 51.2 ) 3.0 1.6 4.5 2.8 2.3 3.0 001000 1.07
M 88 A 1.7 6.2 42 9.7 5.1 24 1.8 1000 2.81
501 8.5 1 . 48 24 1.1 2.5 1.2 1.6 100.0 39
115 5.2 0 2.0 51 34 45 15.9 8.1 1.3 100.0 LN
032 )
DEOT i, 675 5.7 5 1.6 6.6 33 6.3 B8 5.2 1.0 1000 261
BEUE O o, 30 50.5 A 1.1 39 31 8.0 2.6 6.2 21 100.0 3.8
(REER
BHAL o 502 5.7 3 14 6.4 35 8.3 19.2 55 81000 24
BEFE 49 4.8 1 1.5 5.0 3.0 5.5 0.0 5.6 1.9 1000 310
017 £ 620
B 889 51.0 A 1.3 5.6 32 1.3 U2 5.6 141000 314
O BS il 5.2 9 2.3 6.1 35 41 B4 53 1.2 100.0 23
092 AS(®) 0
W00 012 i, 9 5.1 1.0 3.6 5.2 5.0 5.2 0.1 4.8 001000 1.3
200043000, 37 5.0 A N 8.4 4.1 6.4 215 5.4 1.5 1000 320
300044000 3 5.1 1 1.8 34 L1 1.1 81 6.0 1.2 1000 3.
000K o, 19 5.7 0 1.2 49 5 1.3 0.2 5.2 21 100.0 330
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(H 45-6) 20| 74 HISE

e Q0 528 A Q0|
ERE
HE 88 B0 1910 -9l [ TR 2 N 7 I P
BH o 00 %82 1.6 41 1.8 82 .2 28 A 1000 L%
167 549 1.4 1.6 24 Uy 1.3 001000 1.9
I 63 8 43 1.9 93 b 3.6 1.2 1000 3.0
m RS 0 45 1.6 87 180 36 A 1000 2%
PLU N X 4.6 3.6 1.5 69 N5 1.9 A 1000 1.4
UDERIER(]
0 68 3.0 45 3 64 N0 33 61000 21
(YA 1.3 20 53 80 23 0 001000 1.80
04 790 1.0 20 0 30 8.0 6.0 1.0 100.0 205
% %3 0 6.7 N 1.7 001000 3.8
5 5T 0 0 6.7 50 B3 33 001000 3.8
03 30 U L0 U0 A0 0 001000 1.9
@ 1000 0 0 0 0 0 0 001000 0
5 o 0 20 0 80 120 20 001000 1.76
% 0 NURVA 20 L0 80 180 001000 9.3
I1 62.0 0 20 L0 100 160 0 6.0 1000 4.9
05NED
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TR 1000 0.5 21.3 16.4 1.1 5.1 N 100.0
0 2ge
D2 167 9 42.1 10.6 7.0 1.5 0 100.0
K] PR 316 40.2 0.9 14.5 6.8 1.3 3 100.0
AOOF o 21 8.2 26.1 17.5 12.3 6.0 0 100.0
5000 O1& o 240 4.6 13.6 21.8 18.1 1.9 0 100.0
0A= 1% 0
HE 425 46.7 24.5 13.3 9.7 5.8 .0 100.0
B 152 28.0 20.0 32.0 13.3 6.7 .0 100.0
B 104 4.0 26.0 14.0 14.0 2.0 .0 100.0
B 56 53.3 2.7 15.0 3.3 6.7 .0 100.0
TR 57 15.0 4.7 2.0 5.0 6.7 1.7 100.0
U 103 2.0 39.0 14.0 14.0 5.0 .0 100.0
B 1Y) 42.0 16.0 4.0 26.0 12.0 .0 100.0
BT 25 40.0 32.0 14.0 8.0 6.0 .0 100.0
B 25 3.0 50.0 4.0 6.0 2.0 .0 100.0
B 11 32.0 4.0 12.0 10.0 2.0 .0 100.0
OCNEO
SR 528 43.0 21.4 13.5 10.5 5.6 .0 100.0
N 2 4 3.1 . 21.3 12.3 6.0 2 100.0
SAGN il 3.1 41.6 9.5 1.5 3.6 0 100.0

(=l
ro-H
~
ogl
fua
=

e R 246 3.9 20.1 12.1 4.3 A 100.0
OHFE Lo, 534 41.0 28.1 : 9.6 5.9 .0 100.0
GEOMO . 220 3%.3 3.2 1.0 12.8 6.7 .0 100.0

09152
200 173 40.6 4.7 16.8 13.9 4.0 .0 100.0
3 211 3%.3 28.6 14.9 17.2 4.1 .0 100.0
< P 501 42.2 21.2 15.6 1.6 1.3 .2 100.0
SO 115 3.4 29.2 22.6 10.7 4.1 .0 100.0
ECER)
DEOGE oo, 675 40.2 2.3 16.4 13.0 5.0 n 100.0
B UHE 0N .o, 325 3.9 3.3 16.5 1.1 1.1 .0 100.0
0 522 0
S UL 502 3.1 21.9 18.4 9.7 4.8 0 100.0
B 498 .8 26.6 14.5 12.4 6.5 2 100.0
0 USH 29 02 0
R 889 40.6 21.3 16.0 9.8 6.3 a 100.0
O BR 111 30.5 21.4 20.2 20.9 9 .0 100.0
0 92 A(@) 0
2000 012 o 97 28.4 28.8 21.9 17.0 4.0 0 100.0
2000~3000. ...+ ev 367 3.2 26.8 15.8 1.4 6.7 0 100.0
3000~4000. . ... ev K 4.2 28.3 . 10.5 4.6 3 100.0
4000 014 .o 195 42.4 25.1 17.1 8.5 6.3 0 100.0
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(H 49-2) HH Z0i5k= UHF

A = gH A
=8 YBENRE T 29 USENME Y8
TR 1000 41.0 17.4 14.8 14.3 4.0 2.5 100.0
0 2ge
D2 167 5.4 12.5 2.9 14.3 6.6 ] 100.0
K] PR 316 45.2 14.2 21.5 14.6 37 g 100.0
AOOF o 21 50.6 19.6 10.3 13.2 4.3 2.0 100.0
5000 O1& o 240 4.3 2.4 6.8 15.2 2.3 1.0 100.0
0A= 1% 0
H8 oo, 425 4.2 20.6 17.0 15.5 1.5 1.2 100.0
B 152 47 16.0 1.3 22.0 3.3 2.1 100.0
B 104 60.0 17.0 8.0 7.0 3.0 5.0 100.0
B 56 15.0 5.0 6.7 5.0 6.7 1.7 100.0
TR 57 2.0 13.3 3T 23.3 5.0 6.7 100.0
U 103 51.0 14.0 14.0 10.0 9.0 2.0 100.0
B 1Y) 3.0 34.0 6.0 4.0 16.0 2.0 100.0
BT 25 52.0 10.0 6.0 20.0 8.0 4.0 100.0
B 25 52.0 6.0 2.0 10.0 .0 4.0 100.0
B 11 3.0 12.0 26.0 10.0 10.0 8.0 100.0
OCNEO
SR 528 45.6 19.3 16. 14.4 3.0 1.4 100.0
N 2 4 48.6 16.2 12.1 14.2 5.2 3.6 100.0
BAEN 61 8.8 8.7 18. 14.1 5.1 4.1 100.0
01840
HE 8 246 4.7 17.6 12.8 17.8 2.1 3.0 100.0
O E 534 4.7 18.4 14.7 12.1 5.3 2.3 100.0
GEOMO . 220 48.2 14.8 17.1 14.4 31 2.5 100.0
0 &
200 173 43.5 18.0 12.3 14.8 2.0 9.5 100.0
e 211 46.0 20.1 13.7 14.0 5.2 1.1 100.0
B8 501 48.4 16.4 16.4 14.0 4.2 .6 100.0
S0 115 48.1 15.9 13.5 15.3 4.3 2.9 100.0
0882 0
DE O e, 675 48.0 18.5 12.1 13.8 3.8 3.3 100.0
B2 UE 0N o, 325 45.0 15.1 19.1 15.4 4.5 9 100.0
0 ZZE O
S UL 502 4.3 16.6 14.4 14.6 4.1 2.5 100.0
B 498 4.7 18.2 15.2 14.0 3.3 2.5 100.0
O skt 257 62 0
R 889 48.2 17.3 15 13.8 4.3 1.0 100.0
O B m 311 17.9 10.2 18.5 1.8 14.5 100.0
0 o2 252 0
2000 012 o 97 3.3 17.3 18.9 1.8 12.3 100.0
2000~3000. ... 367 46.1 17.0 15.1 13.3 6.5 2.0 100.0
3000~4000. ... 341 . 17.3 13.8 4.3 A 100.0
4000 O1& v 195 53.1 18.4 1.4 14.9 n 2.2 100.0
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CH 49-3) =S4 X E0lok= UMF

Mo 4 £54 TH 3
98 @I 4% USEQE &Y UWENS
P 1000 52.6 24.2 15.1 4.1 2.1 1.3 100.0
OREE
D2 167 4.3 26.6 19.8 55 1.2 2.6 100.0
K] PR 316 13.6 42.8 2.4 1.3 6.2 1.8 100.0
AOOF o 21 . 19.2 9.5 2.9 1.9 9 100.0
5000 014 oo, 240 94.9 37 1.0 A .0 1 100.0
0F 7% 0
HE 425 50.6 25.5 18.8 3.0 9 1.2 100.0
B 152 53.3 2.7 14.7 6.0 4.7 g 100.0
B 104 53.0 21.0 12.0 2.0 5.0 1.0 100.0
B 56 60.0 13.3 20.0 .0 5.0 1.7 100.0
TR 57 63.3 28.3 5.0 1.7 1.7 .0 100.0
[ 103 41.0 21.0 14.0 7.0 4.0 1.0 100.0
B 1Y) 5.0 20.0 2.0 14.0 .0 6.0 100.0
BT 25 58.0 14.0 14.0 12.0 2.0 .0 100.0
B 25 48.0 32.0 10.0 0 8.0 2.0 100.0
B Al 50.0 26.0 14.0 2.0 4.0 4.0 100.0
0520
SR 528 49.9 25.8 7. 3.8 1.5 1.2 100.0
N 2 4 5.0 22.3 12.1 4.4 3.9 1.3 100.0
SAGN il 52.5 23.6 12. 5.3 4.8 1.5 100.0
031240
HE 8 246 51.5 20.9 . 3.4 4.2 A 100.0
OHFE L, 534 5.4 26.4 14.1 4.5 2.2 1.3 100.0
GEOMO . 220 49.8 22.6 4.0 2.2 2.0 100.0
09152
200 173 9.2 0 1.2 .6 .0 0 100.0
3 211 51.4 2.1 16.3 5.3 1.8 2.6 100.0
A8 501 41.5 30.5 19.4 4.7 3.0 1.0 100.0
SO 115 .7 3.1 15.6 4.9 1.2 2.0 100.0
ECER)
DEOGE oo, 675 58.1 2.7 12.6 31 2.9 .6 100.0
B2 UE 0N o, 325 411 21.2 2.5 6.4 2.2 2.6 100.0
0 522 0
S UL 502 57.4 24.9 10.1 3.8 2.5 1.3 100.0
B 498 4.1 23.5 2.2 4.5 2.9 1.3 100.0
0 TS 22 05 0
G 889 51.2 2.7 15.5 4.4 2.8 1.4 100.0
O BR 111 63.4 20.1 12.3 2.1 2.1 . 100.0
0 2 AS() 0
2000 019 .o, 97 .1 14.1 8.1 2.1 2.0 2.6 100.0
2000~3000. ...+ ev 367 50. . 15.4 5.7 3.8 1.2 100.0
3000~4000. ... 341 4.3 21.4 17.8 4.5 2.1 1.3 100.0
4000 014 .o 195 58.8 2.1 13.5 1.4 1.0 5 100.0
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CH 49-4) SDA0IA A E0t6k= WHF

A = S04 T4 A
88 Z)l =4 O LHEDE YRENE
TR 1000 95.6 17.9 14.8 6.4 3.2 2.2 100.0
0 2ge
D2 167 9.3 A 0 .6 0 0 100.0
K] PR 316 . 8.0 6.7 1.6 1.1 ] 100.0
AOOF o 21 15.8 36.8 24.9 12.5 4.4 5.6 100.0
5000 O1& o 240 3.8 21.4 24.2 9.6 6.7 2.3 100.0
0A= 1% 0
HE 425 53.6 18.8 17.3 6.4 3.3 .6 100.0
B 152 5.0 19.3 9.3 8.7 2.1 2.0 100.0
B 104 62.0 10.0 13.0 7.0 1.0 1.0 100.0
B 56 63.3 15.0 16.7 3.3 .0 1.7 100.0
TR 57 53.3 25.0 6.7 8.3 3.3 3.3 100.0
U 103 51.0 14.0 21.0 8.0 2.0 4.0 100.0
B 1Y) 50.0 26.0 10.0 0 2.0 12.0 100.0
BT 25 50.0 16.0 18.0 4.0 2.0 10.0 100.0
B 25 66.0 20.0 8.0 2.0 2.0 2.0 100.0
B 11 62.0 18.0 14.0 0 4.0 2.0 100.0
OCNEO
SR 528 53.1 17.9 . 6.7 31 1.3 100.0
N 2 4 5.3 17.8 1.0 6.6 34 2.9 100.0
SAGN il 5.7 18.0 2.5 2.4 5.3 100.0
01840
HE 8 246 5.2 14.6 13.6 6.3 6.0 3.2 100.0
OHFE Lo, 534 53.7 0.0 . 6.7 2.2 2.6 100.0
GEOMO . 220 5.3 16.4 16.1 5.1 2.5 .0 100.0
0 &
200 173 94.0 2.6 g 2.1 0 0 100.0
e 211 5.4 13.5 18.4 5.0 41 2.6 100.0
B8 501 . 24.5 16.0 7.5 4.1 2.1 100.0
S0 115 4.8 19.9 24.2 9.7 2.2 2.2 100.0
0882 0
DEOGE oo, 675 48.7 2.1 15.9 8.2 4.1 3.0 100.0
B2 UE 0N o, 325 69.8 13.1 12.6 2.6 1.3 .6 100.0
0 ZZE O
S UL 502 50.9 2.4 16.6 6.8 2.5 2.8 100.0
B 498 60.3 15.3 13.0 6.0 3.9 1.5 100.0
O skt 257 62 0
R 889 5.7 19.2 14.5 6.1 3.2 2.3 100.0
O B m 62.6 1.5 17.2 8.6 3.2 9 100.0
0 o2 252 0
2000 018 ..o 97 1.5 9.3 41 5.4 34 2 100.0
2000~3000. ... 367 . 1.1 12.1 6.4 4.1 2.9 100.0
3000~4000. ... 341 53.1 211 15.4 5.5 2.0 3.0 100.0
4000 O1& v 195 3.5 29.1 243 8.4 2.2 5 100.0
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CH 49-5) AOHHAl Z0kok= UMF

N AOtE X H
s +8  dEENRE ) &9

B e 0o 9.8 9 1 5 41000
0 %80

05 .o, 67 %4 1.9 25 0 31000

3000 oo 36 %8 14 ) 1 01000

R %8 3 4 5 01000

B0 014 ..o A N6 0 0 4 01000
0A= 1% 0

K oo moonl 0 0 3 01000

B e 52 %.0 13 2.1 0 01000

B2 v 0 9.0 2.0 2.0 3.0 01000

BE e % %7 17 0 17 01000

B v 5 8.3 17 0 0 01000

OF it 03 9.0 2.0 1.0 0 01000

S e 2100 0 0 0 01000

B oo, 5 8.0 0 0 0 20 100.0

BX e, 5 %0 2.0 0 2.0 01000

EH e 1000 0 0 0 01000
DREER()

2T e 58 9.2 4 2 2 01000

N8BS moo% 15 15 1.0 01000

LGN oo 6 9.5 8 0 K 81000
O=HEHO

OE X8 w4 %0 1.6 1.2 2.0 21000

OEE oo B %5 8 6 2 01000

A TH O o 0 N3 2 5 0 01000
0 )52

2015 oo 73 100.0 0 0 0 01000

3 e 211000 0 0 0 01000

19 e, 01 9.4 6 0 0 01000

5 01A oo, 5 835 1.8 6.2 5.1 41000
OEEER

DE O[S v 65 919 1 6 1 a0 1000

HEOZ 0 oo w96 1 9 4 01000
0 YL 0

I 1 R 02 9%.6 4 8 L1 41000

BY Z2 e 98 90 3 ) N 01000

R 889 91.5 1.0 8 g N 100.0

O B m 100.0 .0 .0 .0 0 100.0
0 %2 A5(2) 0

2000 018 oo 97 100.0 0 0 0 0 100.0

200073000 ... 367 9.5 9 .6 .0 0 100.0

3000~4000. . ..., 34 9.9 9 .6 1.4 A 100.0

4000 O1& .o 195 9.9 1.0 1.6 5 0 100.0
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<H 49-6) NOIDILI Z0lok= UMF

Al = AlOiGIY H
83 % UUERE  EY Z)l
A 1000 9.3 1.6 1.6 1.2 3 100.0
02820
D2 i 167 9.4 1.8 2.4 3 0 100.0
B0 316 94.9 1.4 1.6 1.5 .6 100.0
QO 21 96.0 2.0 1.5 5 0 100.0
S0CH O oo 240 94.8 1.3 1.1 2.3 5 100.0
0A= 1% 0
M8 425 9.7 9 ] 1.8 3 100.0
B 152 94.0 2.0 4.0 .0 .0 100.0
B e, 104 88.0 5.0 4.0 2.0 1.0 100.0
B 5% 9.7 .0 .0 1.7 1.7 100.0
B 57 91.7 3.3 5.0 0 0 100.0
O 103 9.0 1.0 1.0 .0 .0 100.0
B 42 9.0 0 0 2.0 0 100.0
BT 25 9.0 .0 .0 2.0 .0 100.0
BT 25 94.0 4.0 2.0 0 0 100.0
B I 100.0 .0 .0 .0 .0 100.0
OZNE O
SR 528 96.9 9 4 1.5 2 100.0
e 2 an 92.9 2.5 3.2 9 5 100.0
LGN b1 9.7 1.6 8 8 0 100.0
0318t 0
s R 246 92.8 2.8 2.5 1.1 8 100.0
OHFE oo, 534 9.9 1.2 1.4 1.5 0 100.0
EOMO . 220 96.5 1.3 1.0 .6 .6 100.0
0 &2
2B 00 173 100.0 .0 .0 0 0 100.0
3 21 9.8 5 2 A 0 100.0
A8 501 9.4 A 1.0 0 2 100.0
SF 0 L 115 68.0 1.3 9.0 9.7 2.0 100.0
03320
DEOGE e 675 9.4 1.7 1.6 9 5 100.0
B2 HEON o, 325 9.0 1.5 1.6 1.9 .0 100.0
0ZZ20
S AL 502 93.8 2.5 2.1 1.2 A 100.0
Y PR 498 9.7 g 1.1 1.2 3 100.0
0 st 2% 62 0
R 889 9.1 1.8 1.5 1.4 2 100.0
O B m 9.8 .0 2.1 .0 1.2 100.0
0 %2 A5(2) 0
2000 018 oo 97 96.0 2.1 1.0 1.0 0 100.0
200073000 ... 367 91.8 1.0 1.0 .0 3 100.0
3000~4000. . ..., 34 94.0 2.2 1.2 1.9 g 100.0
4000 O1& .o 195 92.3 1.6 31 2.4 0 100.0
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CH 49-7) JZOMHAI E0t6k= LAHF

N X 0L K| H
Uz 4 Bo  LBEQNE L)

B e 000 95 2 B N 41000
0 %80

05 .o, 67 97 0 0 0 31000

3000 oo 3 %89 7 0 4 01000

R 211000 0 0 0 01000

B0 014 ..o w0 N5 0 5 0 01000
0A= 1% 0

K oo 0o N 3 3 3 01000

B e 52 9.3 1 0 0 01000

B2 v 04 100.0 0 0 0 01000

BE e 5% 1000 0 0 0 01000

B v 571000 0 0 0 01000

OF it 03 100.0 0 0 0 01000

S e 2100 0 0 0 01000

B oo, 5 %0 0 0 0 20 100.0

BX e, 5 100.0 0 0 0 01000

EH e 1000 0 0 0 01000
DREER()

2T e 58 9.3 2 2 2 01000

N8BS mo 98 2 0 0 01000

LGN oo 6 9.2 0 0 0 81000
O=HEHO

OE X8 w4 B3 9 5 0 21000

OEE oo 531000 0 0 0 01000

A TH O o % 0 0 5 01000
0 )52

2015 oo 73 100.0 0 0 0 01000

3 e a1 98 0 0 0 21000

19 e, 01 9.7 0 3 0 01000

5 01A oo, 5 %9 2.0 0 1 01000
OEEER

DEOG oo 65 9.5 3 2 0 01000

HEOZ 0 oo W N4 0 0 4 21000
0 YL 0

I 1 R 02 9.8 2 0 0 01000

BY Z2 e 98 9Nl 3 3 3 41000
O NSk 22 02 0

B e 889 9.6 3 0 A 01000

O B8 oo, n %4 0 1.2 0 41000
0 82 AS(H) 0

2000 DI% ..o 9 87 0 1.3 0 01000

20003000, ... ¥ 9.3 4 0 4 01000

30004000, ... M 1000 0 0 0 01000

1000 01 .o, 1% 9.2 5 0 0 31000
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(H 49-8) FHOIMLI Z0lst= WK

AN S SR H
B 29 g @

BH oo 00 95 3 A 41000
0 9gg

D5 i, 67 9.7 0 0 31000

0 v, 3 9.2 ! ! 01000

B0 oo, 211000 0 0 01000

SO 014 oo, A N3 7 0 01000
0 A= 1% 0

HE oo 0o 6 3 01000

B e 152 100.0 0 0 01000

B2 v 04 100.0 0 0 01000

BE e 5% 1000 0 0 01000

B oo 57 100.0 0 0 01000

O i 03 100.0 0 0 01000

SH e 2100 0 0 01000

B e % %.0 2.0 0 201000

BT e, % 1000 0 0 01000

BB i 1000 0 0 01000
DEER)

2E A e 58 9.3 5 2 01000

TS B o000 0 0 01000

BA A e 6 %84 K 0 81000
O=H&H0

OE ZE 4 B2 1.0 5 21000

OEE oo 8 999 A 0 01000

Ty 20 100.0 0 0 01000
0152

2005t oo, 173 100.0 0 0 01000

3 e, 21 98 0 0 21000

I e, 01 995 5 0 01000

BE OIA e, 15 9.5 4 11 01000
08220

DE OB e 65 994 5 2 01000

HE U O oo B N8 0 0 21000
0Zgs 0

AU v 52 9.6 4 0 01000

HAEE 98 94 3 3 a0 1000
0 sk 2R 02 0

B e 8 97 N A 01000

O B o no99 1.6 0 41000
0 82 A5() 0

2000 018 .o, 7 B7 1.3 0 01000

20003000, ..., ¥ 96 0 4 01000

30004000, ..., U W5 5 0 0 100.0

1000 014 ..o, 1% 9.7 0 0 31000
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EH e, moo0.0 240 8.0 20 0
CNE O
A e 58 %6 413 %8 6.5 0
U8B 0 98 21 50 6.7 5
ZAEA e 6 %92 410 3.9 3.6 0
=X 8l 0
BEZ8 a5 B4 36 240 71 4
O E oo, 532 : ¥4 52 5.8 2
T IR 29 91 01 M6 13 0
&4
22008 e im0 N5 2.9 9.3 11
3 e 20 94 BT 25 5.0 0
1B 500 . 60 59 6.8 0
B 0& e 5 %1 419 2.0 35 0
822 ()
I TR 2 95 W7 26 6.3 3
HEUZ 04 o, w96 L6 B 6.8 0
L-EN)
EA U e, 52 %80 407 %4 5.2 0
BY 22 i, 9 9.0 49 %3 7.7 4
sk 2% 062 0
B2 e 81 97 N6 57 6.2 0
O BS oo, n %5 41 205 8.8 1.7
G2t AS(2H) 0
000 012 .o % %7 B4 BT 128 1.9
20003000......o ¥ 9.8 BT B 7.0 0
30004000, ... M %6 B3 N6 5.8 0
2000 01& oo 9 %2 466 2L 3.3 0
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(H 52-1) MSdk= =8 3D|

Al = daote +2 3| H

01Ky S8y A 6kg H3oke
37| 88

%
BH 1000 4.3 50.3 3.4 5.1 100.0
OEEER]
02 167 32.8 54.7 6.4 6.1 100.0
000 o 316 h.1 49.7 3.2 5.4 100.0
0 . 21 47.4 48.3 1.4 2.9 100.0
500K OI& Lo 240 39.4 50.2 3.8 6.5 100.0
OREREK
N 425 45.2 45.8 3.3 5.8 100.0
B 152 29.3 65.3 4.0 1.3 100.0
B 104 56.0 40.0 1.0 3.0 100.0
B 56 23.3 68.3 6.7 1.7 100.0
B 57 16.7 61.7 3.3 18.3 100.0
O 103 34.0 52.0 5.0 9.0 100.0
B 42 96.0 4.0 .0 .0 100.0
@-’F ................................... 25 46.0 48.0 6.0 .0 100.0
B 25 28.0 12.0 .0 .0 100.0
e 1 14.0 78.0 4.0 4.0 100.0
SAE 0
e R 528 43.0 47.0 3.1 6.4 100.0
D 2 R 41 40.3 52.5 3.1 4.0 100.0
BAEN 61 32.9 63.2 3.2 1 100.0
2 85 0
s R 246 38.0 51.7 6.1 4.2 100.0
O E o, 534 2.1 50. 2.4 5.2 100.0
HEOM O .o 220 43.0 48.4 2.8 58 100.0
0152 0
28 010h o 173 39.6 48.8 8.1 3.5 100.0
3 211 . . 3.9 4.9 100.0
L 501 .1 50.1 2.2 6.0 100.0
B 0L o 115 8.1 47.4 .8 3.7 100.0
g2 ()
DEORE .o, 675 N.2 49.8 3.3 5.6 100.0
HEUE 0N ..o, 325 4.5 51.1 3.5 3.9 100.0
S EN)
AU o 502 44.1 47.0 3.4 5.5 100.0
T8 498 38.4 53.5 3.5 4.6 100.0
0 ISR 29 02 0
B 889 42.4 49.8 2.5 53 100.0
O B s [l 32.4 54.3 10.4 2.9 100.0
A2 AS(@) 0
2000 012F o 97 24.6 61.6 8.3 5.6 100.0
2000~3000. ...t 367 35.0 ) 4.2 5.9 100.0
3000~4000. ...\ v e 341 8.7 3.7 2.1 5.5 100.0
4000 O1A oo 195 48.3 47.4 1.7 2.6 100.0
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CH 52-2) MSdh=

AN S A
e
2%
g
BH oo 000 9L 41000
ogg
D5 i, 67 8.7 01000
0 v, 3 22 01000
WO oo, 1 9.0 41000
SO 014 oo, 2 908 01000
0 A= 1% 0
HE oo 0o 8 01000
B e 52 9.0 01000
B2 v 04 9.0 01000
BE e % 9.7 01000
B oo 57 100.0 01000
OB i 03 %.0 01000
SH e 2900 01000
B e % 100.0 01000
BT e % 1.0 01000
BB i o0 01000
CNE O
2E A e 58 8.0 01000
TS B m o %3 31000
BA A e 6 895 01000
=X 8l 0
OE ZE 46 90 0 0 01000
OEE oo 8 906 2.8 4 2000
Ty 2 8.2 2.3 5 100.0
0152
2005 oo, X 2.2 5.0 01000
3 e, 20 9.2 1 1.2 51000
I e, 01 9.2 2.8 7.0 01000
BE OIA e, 5 93 0 1.1 01000
822 ()
DE OB e 65 % K 100.0
HE U O oo B 810 K 100.0
0Zgs 0
AU v 52 918 0 100.0
HYEE 98 904 6 100.0
0 sk 2% 02 0
B e 8 9.2 6 100.0
O B o nm o 90 K 100.0
G2t AS(EH) 0
000 1% .o 9 9.8 2.9 5.3 01000
20003000, ..., ¥ 920 1.9 5.9 31000
30004000, ..., M 90 2.2 6.8 0 100.0
1000 014 ..o, 195 8.4 1.3 9.3 01000
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(H 52-3) &Sdtk= Z7| 37|

R REGERIED |
SW O 17~25g Z10~17g A 10g  H3Soles
259014 INENEE
HH 1000 1.3 36.5 46.9 3.4 5.8 100.0
EER
08 167 6.0 40.4 4.7 4.6 1.3 100.0
00 316 1.3 35.8 46.0 3.8 1.1 100.0
1 R 21 9.6 3.5 49.4 2.6 2.9 100.0
S00H OI&F oo, 240 5.1 3.9 48.7 3.1 6.5 100.0
ORERER
HE o, 425 1.9 34.8 47.9 4.2 5.2 100.0
L 152 3.3 26.0 66. 7 2.0 2.0 100.0
B 104 18.0 30.0 43.0 3.0 6.0 100.0
B 56 10.0 43.3 4.1 5.0 .0 100.0
B 57 1.7 48.3 28.3 1.7 20.0 100.0
O 103 1.0 48.0 35.0 2.0 14.0 100.0
B 42 14.0 24.0 60.0 .0 2.0 100.0
BT 25 .0 58.0 34.0 8.0 .0 100.0
B 25 6.0 66.0 24.0 4.0 .0 100.0
e 1 10.0 36.0 36.0 12.0 6.0 100.0
CAE 0
e R 528 6.5 31.4 3.8 6.9 100.0
N8 2% 1 8.8 32.3 5.3 2.4 5.2 100.0
SLAEN b1 4.3 57.4 1.1 1.1 100.0
=) 86 0
HE R 246 10.2 29.0 51.6 3.3 5.9 100.0
OHF E oo, 534 1.2 39.3 44.0 3.1 5.8 100.0
OO . 220 4.4 38.1 48.5 2.9 6.0 100.0
0520
28 0I0F .o 173 1.8 32.8 50.2 3.1 55 100.0
3 211 1.3 347 47.3 5.2 5.5 100.0
A 501 6.2 38.5 46.2 2.1 6.3 100.0
SO o, 115 1.3 36.8 43.8 3.3 4.9 100.0
HEEEK)
DEOOH ., 675 1.2 34.5 48.9 2.1 6.8 100.0
HEUZ 0N ., 325 1.1 40.7 42.7 5.0 3.9 100.0
OHRIEER)
AL 502 8.0 45.0 2.1 6.5 100.0
MY R 498 6.7 35.1 48.8 4.2 5.2 100.0
0 IEX 29 02 0
B 889 1.8 38.0 3.3 5.8 100.0
0 B8 11 3.8 2.7 61.4 4.3 59 100.0
A2 AS(2) 0
2000 018 . 97 6.6 22.5 58.7 1.2 4.9 100.0
200043000, ..\ 367 53 2.1 50.9 31 8.0 100.0
3000~4000. ..o 341 1.5 41.2 41.9 3.3 6.0 100.0
4000 014 oo 195 1.2 42.4 421 2.4 1.9 100.0
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(H 52-4) MSoh= EJ| 2& A

Al = H30t

rir

gl

Hel

34 H
Kg £X 1.5kg EX Xg £H 4Kg ZX PvC el

R 1000 3.9 6.9 3.6 4.1 18.9 100.0
LEENU
D2 167 4.8 5.1 3.4 6.7 15.1 100.0
B0 316 ) 5.4 31 3.5 100.0
QO 21 36.0 6.6 32.6 4.9 19.9 100.0
S0CH O oo 240 3.2 10.5 2.6 4.1 21.9 100.0
0A= 1% 0
M8 425 41.8 9.1 3.1 2.4 1.6 100.0
B 152 4.3 .0 2.0 1.3 21.3 100.0
B e, 104 16.0 4.0 2.0 0 51.0 100.0
B 5% 13.3 .0 55.0 2.0 1.7 100.0
B 57 30.0 3.3 3.3 0 28.3 100.0
O 103 54.0 22.0 16.0 8.0 .0 100.0
B 42 34.0 0 0 0 66.0 100.0
BT 25 28.0 2.0 52.0 .0 18.0 100.0
B 25 50.0 0 4.0 0 2.0 100.0
B I 68.0 10.0 12.0 2.0 8.0 100.0
CNE D
SR 528 4.2 11.6 3.6 3.5 6.1 100.0
e 2 an 28.8 1.5 26.0 6.9 36.8 100.0
EAEN 61 4.2 2.6 43.2 A 9.6 100.0
0318t 0
s R 246 3 6.0 2.6 8.1 25.1 100.0
OHFE oo, 534 3.3 5.3 3.1 3.1 16.6 100.0
EOMO . 220 3.2 1.7 2.1 34 17.6 100.0
0 &2
2B 00 173 43.4 5.1 2.0 4.3 18.6 100.0
3 21 31 6.9 8.4 3.6 . 100.0
A8 501 36.5 1.2 3.1 4.9 16.2 100.0
SF 0 L 115 3.7 1.3 21.5 6.6 21.9 100.0
03320
DEOGE e 675 31.0 8.1 8.1 5.1 21.0 100.0
B2 UE 04 .o 325 3.7 4.3 3.5 3.9 14.6 100.0
0ZZ20
S AL 502 36.6 1.0 30.0 4.4 22.0 100.0
Y T2 498 39.2 6.8 3.2 5.0 15.8 100.0
O ST 2% 62 0
B 889 3.2 1.0 2.4 4.8 18.7 100.0
O B3 1 43.0 6.2 2.5 4.4 20.9 100.0
g2t AS(2) O
2000 DI2F ..o 97 445 4.2 22.6 5.9 2.1 100.0
200073000 ... ve 367 31 9.6 21.5 4.2 217 100.0
3000~4000. ... 3 ) 6.9 3.5 31 16.4 100.0
4000 014 o 195 31 3.2 40.5 6.8 16.3 100.0
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(H 52-5) MSdt= &e| 37|

Al = daots 89 31 H

[ = A

= S 2
500904 400-500g 300~400g 3009012t 2J| 8B

HH 998 4.5 24.2 60.5 4.4 6.3 100.0
EER
08 166 8.3 24.9 5.5 6.2 5.1 100.0
00 316 4.5 23.4 59.2 6.0 6.9 100.0
1 R 21 3.8 24.2 63.6 2.4 6.0 100.0
S00H OI&F oo, 239 2.6 24.9 62.2 3.5 6.8 100.0
ORERER
HE o, 425 1.0 28.5 55.8 3.6 5.2 100.0
L RO 152 2.1 13.3 76.0 6.7 1.3 100.0
B 102 6.1 24.5 53.1 6.1 10.2 100.0
B 56 3.3 21.1 .1 1.7 1.7 100.0
B 57 1.7 28.3 60.0 .0 10.0 100.0
O 103 1.0 19.0 61.0 1.0 18.0 100.0
B 42 .0 8.0 70.0 20.0 2.0 100.0
BT 25 .0 66.0 24.0 4.0 6.0 100.0
B 25 .0 24.0 74.0 2.0 .0 100.0
B 1 8.0 16.0 58.0 6.0 12.0 100.0
CAE 0
e R 528 58 56.8 3.1 1.1 100.0
N8 2% 409 3.2 18.8 66.8 6.3 4.9 100.0
SLAEN b1 1.4 50.7 3.5 4.6 100.0
=) 86 0
HE R 245 4.1 28.4 5.3 5.6 5.6 100.0
OHF E oo, 534 4.2 22.9 62.4 4.1 6.4 100.0
HEOM O . 219 5.6 22.1 60.7 4.1 6.9 100.0
0520
28 0I0F .o 172 6.9 20.5 61.8 4.9 51 100.0
3 210 59 22.2 60. 1 5.9 5.9 100.0
A 501 3.6 25.0 60.1 3.8 1.5 100.0
SO o, 115 1.8 30.0 61.4 3.8 3.0 100.0
HEEEK)
DEOOH ., 673 2.6 23.6 61.4 4.6 1.1 100.0
HEUZ 0N ., 325 8.3 25.5 58.6 41 3.4 100.0
OHRIEER)
A AT 501 3.3 21.6 59.1 3.2 6.9 100.0
T 496 5.6 20.9 62.0 51 5.8 100.0
0 IEX 29 02 0
B 887 4.9 25.2 59.9 3.7 6.2 100.0
0 B8 11 1.1 16.3 65.3 10.2 1.1 100.0
A2 AS(2) 0
2000 018 . 97 3.9 15.2 63.7 9.0 8.3 100.0
200043000, ..\ 366 2.8 19.6 66. 4 5.3 59 100.0
3000~4000. ..o 340 1.1 28.5 53.5 4.3 6.1 100.0
4000 014 oo 195 2.4 29.9 60.2 .9 6.5 100.0
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(H 52-6) MSoh= Q| 2& A

A = Haots 89 23 72 H

M2 LR EH IR SKg IR kg IR I5kg ZX JIE

SIS
BH oo % N2 58 21 8 3 000
LEENU
D3 .o, % 6.1 287 23 1.2 K 0 100.0
300 oo 3 6.2 57 3.4 1.1 3 31000
OO oo, a1 N8 A2 3.0 6 4 0 100.0
SOCH 014 oo, 29 719 5.1 1.9 5 0 01000
0Nz 1% 0
HE oo 0 B9 N6 L5 6 3 01000
S8 e 52 667 37 1 0 0 01000
B2 oo 02 8.7 8.2 0 2.0 2.0 1.0 100.0
BE % 8.7 33 10.0 5.0 0 01000
B oo 5 %7 3.3 0 0 0 01000
U Lot 03 910 8.0 1.0 0 0 01000
SH e 2 %0 1.0 0 0 0 01000
B oot 5 %0 2.0 0 20 0 01000
E % 50 460 0 0 0 01000
BB e 8.0 8.0 2.0 1.0 0 01000
ERU
2 A 58 6lL2 3.2 3.9 5 2 01000
TS B 0 8.9 155 1.6 1.2 5 31000
LGN e 6 6.9 2.2 4 1.5 0 01000
EELERU
BEZ8 A5 A 25 9 1 0 41000
O E oo B 7.3 28 3.0 1.2 ) 01000
A DA O e 29 6.8 32 1.0 0 0 01000
0540
2E 00 oo, o M4 B 1.8 N 0 01000
3 e 20 611 307 1.2 9 0 01000
I e, 501 : . 2.9 8 5 01000
B 04 e M5 75 139 6.1 17 9 91000
824 ()
DE 05 63 1 206 2.4 5 2 21000
B2 HZ 04 oo ¥ 0.0 33 3.4 1.6 1 0 100.0
JYE 0
SU UL v 01 BT 200 17 1.0 4 21000
BYZE e 9 6T 305 3.8 1 3 0 100.0
0 Isk 2% 62 0
B e 81 6.8 259 29 9 4 1000
O B o nm 1By 2w 1.2 0 0 01000
G2k AS(EH) 0
000 1% .o 9 666 317 1.6 2 0 01000
20003000, ..., % 713 26 1 0 01000
30004000, ..., 00 . 1.5 1.0 4 31000
1000 014 ..o, 1% 0.2 2.8 5.1 1.1 11 01000
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(H 52-7) MSoh= LEIE0IE 3D

R 4351 QUENE 3| |
sy o Pt
250~300g  210~250g  180~210g 0gt 301 Y8
BH 998 2.6 22.5 63.9 2.5 8.6 100.0
EER
08 167 4.6 21.9 53.5 5.9 8.1 100.0
00 316 1.9 22.6 63.9 2.9 8.6 100.0
1 R 216 2.4 20.5 68.6 1.3 1.2 100.0
S00H OI&F oo, 240 2.2 20.7 65.5 1.1 10.6 100.0
ORERER
HE o, 425 3.6 25.8 62.4 2.1 6.1 100.0
L RO 152 0 12.1 84.0 1.3 2.0 100.0
B 103 4.0 31.3 41.5 3.0 14.1 100.0
B 56 1.7 23.3 70.0 1.7 3.3 100.0
B 57 3.3 23.3 51.7 .0 2.1 100.0
O 103 0 12.0 58.0 6.0 24.0 100.0
B 42 0 18.0 80.0 0 2.0 100.0
B 25 4.1 36.7 42.9 8.2 8.2 100.0
B 25 4.0 24.0 70.0 2.0 .0 100.0
e 1 10.0 18.0 52.0 12.0 8.0 100.0
CAE 0
e R 528 2.9 23.1 61.6 2.9 9.6 100.0
N8 2% 4o 1.7 68.0 1.5 8.0 100.0
SLAEN b1 5.1 28.1 55.8 6.3 4.7 100.0
=) 86 0
s R 246 3.1 21.5 64.6 2.2 8.0 100.0
OHF E oo, 532 2.6 62.0 2.6 9.1 100.0
HEOM O . 220 1.1 21.0 67.4 2.6 8.0 100.0
0520
28 0I0F .o 173 3.8 18.9 68.4 1.9 6.9 100.0
3 210 2.1 60.0 3.2 1.6 100.0
A 500 2.1 22.4 63.0 2.0 10.5 100.0
SO o, 115 2.4 20.7 67.8 4.4 4.6 100.0
HEEEK)
DEOOH ., 674 1.8 20.6 2.3 9.2 100.0
HEUEON oo, 325 4.1 26.4 59.1 3.1 1.4 100.0
OHRIEER)
A AT 502 2.0 25.3 60. 1 2.8 9.9 100.0
MY R 496 3.2 19.6 67.6 2.2 1.4 100.0
0 IEX 29 02 0
B 887 2.8 23.8 62.3 2.5 8.6 100.0
0 B8 11 .6 1.7 76.2 3.0 8.5 100.0
A2 AS(2) 0
2000 018 . 97 3.6 1.7 70.7 7 13.2 100.0
200043000, ..\ 366 2.9 68.7 2.5 8.6 100.0
3000~4000. ..o 341 2.6 55.6 3.5 8.9 100.0
4000 014 oo 194 1.3 25.5 65.9 1.5 5.8 100.0
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(H 52-8) MSdh=

EENE Z& 74

R Soi= YMENE X 34 A
MEEN ERER Ko IX X9 EX Ko ER Ko IX g EX &g XX
Juz
Bl 99 62.3 1.9 9.5 1.4 24 .2 1.2 100.0
(%320
VE i, 167 51.3 12.9 12.8 12.2 23 3 1.7 0 0 100.0
316 59.5 13.7 1.6 11.6 2.0 0 1.0 0 01000
276 66.6 95 5.6 12.5 28 2 1.1 2 A 1000
20 644 11.6 9.0 9.4 24 5 1.3 5 001000
IV 5.3 14.8 8.8 18.8 33 3 .6 001000
28 152 8.7 1.0 1.3 1.3 21 0 0 0 100.0
47 ... 103 19.8 51 3.0 6.1 1.0 0 20 0 100.0
L 5 6.0 33 33 1.7 33 0 1.7 01000
0a ... 51 %.0 0 3.3 1.1 0 A0 0 0 100.0
UF ... 103 16.0 30 13.0 6.0 1.0 0 1.0 01000
2 I %.0 2.0 A0 0 2.0 A0 0 0 100.0
e PA) 83.7 20 41 41 20 2.0 0 01000
R P 10.0 8.0 2.0 3.0 0 A0 0 0 100.0
EH o 1 62.0 8.0 18.0 20 20 40 0 01000
0D
2 528 5.8 12.5 9.6 16.3 29 2 1 100.0
T8 2% i, 40 10.0 10.8 8.1 47 1.9 0 21 100.0
ELAEN 1 4.2 13.9 18.2 14.5 1.2 1.5 0 100.0
01800
e R Uf 62.5 124 124 9.3 22 3 8 0 100.0
OHEE oo, 53 6.1 10.6 1.8 11.6 24 0 1.5 5 100.0
BHOH O, 20 51.6 14.6 10.4 13.3 24 b 1.1 0 100.0
020
P0G oo I/ R X SRR X N ¥ R TN R N S SN B N Y
B e W8T B4 85 122 0 6 45 m
B W 60 124 80 By 203 106 .0 .0 10
B0 o R YR Y SR N 2002 00w
08320
DEG i, 674 65.6 10.8 10.0 9.3 25 R 100.0
BEUE O o, 3 5.3 14.3 8.5 15.9 22 .6 20 100.0
03320
S0 o W63 %0 46 02 2l 3 12 0.0
BE 22 19 5.2 14.9 9.4 121 26 | 1.3 100.0
0 sk 22 020
B 887 617 1.4 9.5 12,1 25 2 14 100.0
OB, il 66.9 157 9.3 6.2 1.2 b 100.0
0 %% A5( 0
2000 019 ... 9 ol.1 9.2 17.8 9.3 1.1 0 11 2 2 0 100.0
200043000, 0, 366 62.9 13.8 9.9 10.1 1.1 R 1.0 5 3 3 100.0
300044000, 3 60.5 124 9.4 13.6 31 A A 3 0 001000
000 014 oo, 194 64.6 9.0 48 1.3 41 A 31 5 3 0 100.0
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M2 H30te SSENE )| H
EM2ng W29 S5 Alg H3dke
014 04 0l4 oigt 3J ¢tg
HH 997 2.4 26.6 48.5 8.7 13.7 100.0
LEENU
08 166 3.1 29.4 4.1 13.1 9.7 100.0
00 316 2.1 25.4 47.8 10.8 13.8 100.0
1 R 216 2.1 26.9 51.7 7.9 11.3 100.0
S00H OI&F oo, 239 2.2 26.1 3.9 18.9 100.0
0HZ 19 0
HE o, 425 3.3 36.1 40.3 9.1 11.2 100.0
L RO 152 .0 6.0 76.0 10.7 1.3 100.0
B 102 6.1 26.5 4.8 1.0 24.5 100.0
B 56 .0 18.3 66. 7 10.0 5.0 100.0
B 56 .0 25.4 31.3 22.0 15.3 100.0
O 103 2.0 16.0 40.0 9.0 33.0 100.0
B 42 .0 34.0 64.0 .0 2.0 100.0
BT 25 .0 40.0 48.0 4.0 8.0 100.0
B 25 4.0 40.0 44.0 .0 12.0 100.0
e 1 6.0 8.0 48.0 26.0 12.0 100.0
CNE O
e R 528 31 1 40.2 9.1 100.0
N8 2% 408 1.5 18.4 59.6 8.6 11.8 100.0
SLAEN b1 2.1 46.4 6.3 100.0
=H g8 0
s R 245 3.1 24.0 48.7 8.3 15.4 100.0
OHF E oo, 532 2.4 21.6 48.6 8.3 13. 100.0
HEOM O . 219 1.2 21.4 48.3 10.2 12.9 100.0
0)E20
28 0I0F .o 172 5.1 25.7 49.2 5.4 14.6 100.0
3 210 2.3 26.7 48.0 9.8 13.2 100.0
A 500 1.8 26.9 471 9.7 14.5 100.0
SO o, 115 1.3 26.7 5.1 1.3 9.7 100.0
EEEN)
DEOG vis 2 26 83 19 160 1000
HEUZ 0N ., 325 2.0 3T 47.0 10.5 8.8 100.0
g =)
Y AT 502 1.8 28.7 41.6 8.2 13.6 100.0
T 494 3.0 24.5 49.5 9.2 13.7 100.0
O Ish ES G2 0
B 887 2.6 28.0 48.0 8.3 100.0
0 B8 110 1.1 16.0 53.0 11.8 100.0
o2t AS(2) 0
2000 018 . 96 8.0 11.8 517 9.9 100.0
200043000, ..\ 367 1.8 54.4 8.9 100.0
3000~4000. ..o 340 2.2 3.1 42.9 8.7 100.0
4000 014 oo 194 1.3 45.9 7.9 100.0
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H
100.0

2

52.8

1.2

4.5 15.1 16.9

8.6

(H 52-10) MSoh= YUEENE & +4

A
997

© oo o~

Ot N oo oo
S © = oo~ ©

Coococococooo o

T NP RPN
—ro oo oo oo o
A

O~ MmM oo oo o
N — N N

L~ NOM~ROoC oo OO
===a — 288

N~ o ococooc oo

425
152
102
103

1Y)

100.0
100.0
100.0

528
408
61

OHI <<J T K- R i) <J K- KE iR
T35 #0 T3 o OHU < KH0 K

100.0
100.0
100.0

245
532
219

Ommm
Sol =
woKFWI TS
EUINE!
KE OIS &)
-

OF e

0

280l

01%2 0

=

=)

- iS5 K

==

or M &J
-

100.0
100.0
100.0
100.0
100.0
100.0
100.0
100.0
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{H 52-11) MSdk= 201 7

N4 #5310l 3)) y
i x4 H53))
%2
B 1000 1.6 80.7 3.0 8.7 100.0
EEER)
0F 167 8.8 3.5 10.8 100.0
00 316 6.3 2.1 8.5 100.0
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B v 05 B3 R4 122 95 106 100.0
BOCH O1& v 89 12 B 81 110 63 100.0
0A= 1% 0
K oot w7 164 181 95 103 1000
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B2 e, 18 0 BT %6 13 43 100.0
BE el B 86 29 0 0 86 100.0
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O i, Mo 1 186 0 0 23 100.0
SH el 1 0 A8 0 82 01000
B oot 5 T3 167 0 3.3 6.7 100.0
EE | 01000 0 0 01000
EH el 2 m6 I 1L 0 22 100
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2E B 9 B3 169 140 1.3 85 100.0
T8 B e 5 136 520 143 115 8.6 100.0
EA TN o 8 6.3 A7 1.2 2.8 8.0 100.0
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OHFE oo, 0 36 . . 8.0 61 100.0
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DE OB oo w1 %8 38 0T 9.4 83 100.0
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O 87 51.2 13.0 4.2 100.0
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5000 014 oo, 63 4 31.6 12.2 4.7 100.0
0F 1% 0
HE 121 42.6 50.0 7.4 0 100.0
PP 4 13.9 10.9 15.2 .0 100.0
B 25 9.2 0 16.7 4.2 100.0
B 23 44.0 20.0 0 36.0 100.0
TR 4 15.0 0 2.0 0 100.0
O 45 52.3 6.8 40.9 .0 100.0
B 4 100.0 0 0 0 100.0
BT 9 3%.3 5.9 17.6 41.2 100.0
B | 0 0 100.0 0 100.0
PP 2 3.3 4.4 1.1 1.1 100.0
SIEN
SR 166 45.2 38.2 16. 0 100.0
NS &% 103 69.5 9.5 1.9 9.2 100.0
SAGN 11 3.3 12.5 3.9 100.0
) 86 0
= 60 51.9 22.9 17.5 1.7 100.0
OHFE L, 166 49.0 29.7 14.1 1.3 100.0
HEOND . 54 63.5 2.1 14.9 0 100.0
0154 0
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e 2 175 3.9 2.1 25.6 9.8 .0 100.0
LGN 2 2.6 0 0 12.9 84.5 100.0
0318t 0
s R 69 231 3.4 2. 2.1 4.4 100.0
OF E L 168 . 18.6 12. 11.8 1.9 100.0
EOMO . 45 49.5 9.9 15. 25.1 .0 100.0
0 &2
2B 00 5 43.6 20.0 16.8 2.9 6.7 100.0
3 5 25.8 2.1 . 1.7 8.6 100.0
A8 124 4.7 14.2 14.4 6.9 1.1 100.0
SF 0 L Iy 9.1 28.8 10.4 11.0 10.7 100.0
03320
DEOIGH ., 190 411 19.2 18.2 13.8 1.6 100.0
B2 HEON o, 9 39.4 241 12.5 14.7 9.3 100.0
0ZZ20
BOAL m 3.7 26.2 17.1 12.1 1.3 100.0
Y PR 110 4.4 12.5 15.2 16.3 9.5 100.0
0 ST 2% 62 0
R 260 40.2 2.1 15.4 13.8 8.5 100.0
O B 21 44 4.9 2.1 18.2 41 100.0
0 %2 A5(2) 0
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